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exx SERSED
SI(SIH) - HEAY - BA= oy e =2t
8,119,209 29,593,018 N21,473,809
2,457,243 2,531,838 AT4,595
&l 898,814 987,547 A\ 88,733
SIE &t CIHEIBEH 29 61,800 59,800 2,000
(0:Rs]! 54,000 54,000 0
04 = M3 Hl 54,000 54,000 0
ORYH=S2A el AS  1,800,000&*x30H *13] 54,000
ZAZ 7,800 5,800 2,000
ZA= 7,800 5,800 2,000
O=2@e U AMET 2224 A4S 6,800
— X 500, 000& 12 Al *43] 2,000
-2 = 300, 000& x22 A *43] 2,400
-& 4 200, 000& *32 Al x4 3] 2,400
ORYHSRA H&F BASE P72 50,0003 *20H 1,000
HAL A4 O & 29 293,597 299, 136 A5,539
293,597 299, 136 A5,539
293,597 299,136 AN5,539
429 293,597,000 * 14! 293,597
st HFXA 134,502 148,860 AN 14,358
125,822 148,860 N 23,038
61,022 91,260 A30,238
151 6,000& *1,000JH &~ 6,000
D AL
500, 000& *x2 Al 2 %4 3] 4,000
=2 dHAF S8 HH
100, 000& * 15 A x23] 3,000
=& MIE 7,000 2001 = 12& 1,680
TR M 100, 000& x50H 5,000
SES Fls YY)
20,000,000 20,000
O&Z2s 2HEX)| =4 stg 7 6,000
- 200,000& *5J *33] 3,000
= 20,000& x50 *33] 3,000
ORolAHI 24| 700,000& =128 8,400
OJol Ze 2t el <] 100,000& *12& 1,200
OFEAILE B£D| AdX= 43,500 «1100x12& 5,742
02 329l 64,800 57,600 7,200
ORER2 64,800
—REEFLHR= 5,000,000& x12& 60,000
—BtE R 400,000& x12& 4,800




SN 22T E20
o AW AY Yst
Sl ALTE A QR (Sl #)
SH-EH . C(BH) - NRAY - BES Off &F oA glggfg bRz
405 &+ S| 8,680 0 8,680
01 MU SEH S| 8,680 0 8,680
OIIAFTHII A TV(CHHI) 1,280,0002 #1CH 1,280
OIS (Za) YoNE(AR)
2,200,002 14! 2,200
OFUHAY YI2HME(MR) 5,200,008 1A 5,200
HE SM=IE 918 N 186, 142 169,758 16,384
201 Lt Y| 18,000 16,000 2,000
01 A2 22l 7,000 7,000 0
OTUAY &Y X S Yereg)
5,000,0002 14! 5,000
On=sEa 2| 2,000,009 #14! 2,000
02 ZT2YH| 3,000 3,000 0
OTWAIY ASZH SXIHl 3,000,0008 1A 3,000
03 & A2 Z bl 8,000 6,000 2,000
OHI2Y £53 X
500, 0002 *4H & & 5| *43] 8,000
303 L& 3 101,954 103,000 A1,046
01 &2 101,954 103,000 A1,046
OnlFS OIS ES LY 69,954
L 197, 00021 %5 * 122 11,820
— 1A 73,5002 82 122 16,656
—2H 43,0002 +8% * 122 13,728
—3A 98,5002 %102 * 122 11,820
— 4K 01 &~64101 8t 88,5002 152 122 15,930
ON@ol AS8 2 JIEE 50,0002 640 32,000
307 2I12H0| 64, 168 49,758 14,430
VCELEE 64, 188 49,758 14,430
ONZZSS L HAHSO BX3
2,567,5002 x25% 64, 168
405 X443 S| 2,000 1,000 1,000
01 AU SEH S| 2,000 1,000 1,000
OmMEeaa JI7(AR)  2,000,0002+15 2,000
EEX0 QAR 112,535 193, 163 £80,628
101 121t 108,335 41,363 66,972
VEEEEPIEIEPS 108,335 41,363 66,972
OnHMelIe oy 98,570
—Jea 37,5502 %258 902! 84,488
—R38Y4Y 37,5502 %258 * 152! 14,082
OIS 4028 S g3 9,765
—200013 223 98,570,000 4. 5% 4,436
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My XYHY o A5
Sl ALTE A 2oEA EEREED
SN -EHH . (B) - MPAY - BE2 0 Ak o4 e HRE2
—&HESE RBES 98,570,000 *1.0% 986
—1228 RE3 98,570,000 *1.4% 1,380
—2A2Ed RES 98,570,000 *2.82% 2,780
~LAFIQYEE 222
2,780,000 *6.55% 183
201 L2 4,200 4,200 0
01 AtR2tel 4,200 4,200 0
OQASIAE BolBA +g
70,0003 »4H x 153 4,200
A &AL SetS st A 7,700 7,700 0
201 L2 Y] 5,000 5,000 0
03 #AI2E | 5,000 5,000 0
O=2g+ 2F& HsU 5,000, 000& 12/ 5,000
303 Z&t=s 2,700 2,700 0
01 ZA3 2,700 2,700 0
O2g7 =29 MSUE AN 2,700
-2 = 1,000,000& *1&! 1,000
—=825 700,000& 18 700
-& o 500,000& »2&! 1,000
2 REFNE 23 96,538 81,730 14,808
101 21 24H| 71,888 60,980 10,908
04 JIZtH 22 S ES 71,888 60,980 10,908
OREEXE 228 22 58,128
-J23 37,5502 +42 x26 2 122 46,863
—Resgdsd 37,5502 x4 H x5 « 123 9,012
—QAXt= 37,5503 x»4H x15& 2,253
OJINH2RT 4U2E S 22 5,760
—=0g=s 2= 58,128,000 *4.5% 2,616
—ATEE 2ea 58,128,00021*1. 0% 582
—1EEY RE3 58,128,000 *1.4% 814
—2A2EE 23 58,128,000 *2.82% 1,640
—LAFIeYRE 2U2
1,640, 1002 #6.55% 108
OR&FxE 223 2= 2,000,000& 42 8,000
201 et A | 24,650 19,250 5,400
01 AR 2t eldl 14,850 14,850 0
OF=xt&clE =5+ 300, 000& »42] 1,200
OFxt&cld 285 28 200,000& 4«23 1,600
OFXILE(R/F)7E 55,0003 *50H 2,750
OFXA 7Y 261 %250, 0000} 6,500
OZMEX 225 7L 150,000 *12& 1,800
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Sl AL PE AM AR (e @8
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 gggi; B2
OFXHUHRZ A2 1,000,000 %14} 1,000
02 T2l 9,800 4,400 5,400
OBMEX AEFUISXE 700,002 *123] 8,400
OFXZ2 I8 2 0IS 700,000 141%23] 1,400
AM2RT 29 6,000 5,400 600
101 Q1214 6,000 5,400 600
VPR EES TR 6,000 5,400 600
OJNAH2RN EXZ 2,000, 0002 *3% 6,000
2Eo ZalE Y LAl 636,097 665,791 £29,694
Mol Zals Y £ 504,800 510,800 6,000
201 L2 Y| 64,800 64,800 0
01 ALR eIt 64,800 64,800 0
OJlelzel Lurg| 400,000 * 122 4,800
OFQYUREDA ME  20,00081+2008 23] 8,000
OFQURAN X 10,000, 0002 *14! 10,000
OBZMSLASIA M=
20,0002 2002 +4 5 16,000
OPH AMEZ LBr+8H| 16,000,008 14! 16,000
ORF ANREX S| 10,000, 0002 * 144 10,000
202 04t 18,000 18,000 0
01 201 b 18,000 18,000 0
ORZAME OfH| 18,000,0002! 14! 18,000
401 Al HIL 2T 420,000 420,000 0
01 Al &bl 420,000 420,000 0
OFSU=AALHI(S) 20,000,008 %210 S 420,000
405 Xt &H3 S HI 2,000 2,000 0
02 SAHTHI 2,000 2,000 0
OHIN2A SR 10,0002 200 2,000
UNES 8,400 8,400 0
201 Yere gt 2,400 2,400 0
01 ALR 2l 2,400 2,400 0
O AZEl Lur2gH| 200,000 *122 2,400
202 01t 6,000 6,000 0
01 20l bl 6,000 6,000 0
OLANLDREZ OfHl 20,0002 #5252« 128 6,000
yyES 26, 100 49,820 £23,720
201 YEr2gy| 24,820 49,820 £.25,000
01 ALR 2l 19,200 44,200 25,000
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o322 =8l 200,000& «12& 2,400
OTE HAE AX JIZRA 2
800,000 «12& 9,600
OU=2R== 600, 000& 123 7,200
02 32244 5,620 5,620 0
O3Alolg TVvtlz 135,000& 128 1,620
HALSEAIZ STBE 200,0002+122 2,400
0P EEHAE SX24Y)
200,000 *8IH A 1,600
405 KtatE = 1,280 0 1,280
01 KA U SEH St 1,280 0 1,280
OZEYHAIY U (RIESESSYNAEE TV
Al5t) 1,280,000& = 1CH 1,280
SHXZ AL 22| 96,797 96,771 26
101 @124 H| 24,451 24,425 26
04 JIZtH 22 S ES 24,451 24,425 26
OSAHEAH LY 24,451
—ZHIZAL 2@ 46,7903 «5F 10 2,340
—= XA 22 ¥ 46,7903 «5H 43 10,060
—dAaE 2 HWHRF 42,6703 «9H «282 10,753
—AYSBEE L 20K
10,059, 850& 7. 14% 719
-2 d MHEER 23,152, 1903 »2.5% 579
201 LBt | 70,346 70,346 0
01 AFR 2t eld] 70,346 70,346 0
OSAHZNYLEE LB+
2,000, 000& 14 2,000
OSHZAMF 2Z23RE 44,6702 x30 10 13,401
OS8H 2=A 2E 44,6702 *30 »41L 54,945
202 44| 1,000 1,000 0
01 2ot bl 1,000 1,000 0
ORSEHA L BIXE A
20,0003 x2H 252 1,000
203 H 2 =&l 1,000 1,000 0
03 Al FA AR 1,000 1,000 0
O SAHEZA SLEZH 1,000,000 «14 1,000
ASI D 8tHote NIYAX S 23t 322,250 298,524 23,726
FUXXHEH 2 45t 74,280 68,680 5,600
201 Et24Ed| 61,000 57,500 3,500
01 At 2r2lH] 12,000 12,500 A500
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OFQURXME 2 AP 2B H|
1,000,0008! %14} 1,000
OSotel HAEIE 2123 M
1,000,000 %14} 1,000
OFARRME AAK KE 2,008 5,000 10,000
03 A2t 49,000 45,000 4,000
OSot2l HAEY B0 MAIZ &4 S
13,000,000 * 3,000
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ORLAALE o Boig FI2Y
10,0002 *21&! 2,100
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NELHH SYNY L LA 242,570 223,364 19,206
301 BB AE 242,570 223,364 19,206
04 ISR 2| 242,570 223,364 19,206
OOkl 146,016
—XegE 3,0002 +6% * 117} CH x312 61,776
—OIDILIZEITH  3,0002*62 1574 3122 84,240
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O MEE 30,0003 »19JH CH 570
Oogges=23l 90,0003 26 H CH+ 12 28,080
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FEBSH olZet 25 & 72 600,082 579,976 20,106
daSAEH 2 149,760 164,900 A 15,140
405 tatF =H| 149,760 164,900 A 15,140
01 XML EFHSHI 149,760 164,900 A 15,140
Oog=2E TII(UA) 146,560
—AFEH(ZUEHEE) 1,350,000 *80CH 108,000
—2LUH 350, 000& «20CH 7,000
— T2 (ME) 790,000& »30CH 23,700
—=gJl 600, 000 *1CH 600
— N3] 363,000 «20CH 7,260
OFUnEINE F1I X ()
400,000 +8CH 3,200
HESA ANETH ¥ SAY 2gne 367,392 343,081 24,311
201 Bt A | 261,992 237,681 24,311
01 AtR2tel 27,380 4,200 23,180
OgREg ATEQH 2¢ 23,780
—NS 2IO/A2010 & 280,000& »80= 22,400
—AUTOCAD 2011 1,380,000& 12 1,380
ONMAEE 7Y 300,000& «12& 3,600
02 32244 234,612 233,481 1,131
OgetNse3a 130,000& #9032 & x 123 140,400
o83 (HstZ)AER
25,0003 »42| & x123 1,200
OdHZFHIL MEZ 15,000& »302] &4 128 5,400
Oy 23 1,500,000 «13] &4« 12& 18,000
O oAz MES
6,000 x19CH=12& 1,368
Ollsds Atgs 65,000 »4CH =122 3,120
OFUHWEI KXY 226,612,000% *5/100 11,331
ORENMASSEX(UPS)=XIbI(F,S)
8,000,0002 *234!x5/100 9,200
OLLtALE HAEH FAExH|
300,000& «12& 3,600
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OMES PC +2Itl 50,0002 * 100CH 5,000
202 01t 5,400 5,400 0
02 2 % 01| 5,400 5,400 0
ORUSA AFSHAA Ot
150,0002 ¥3 * 122 5,400
401 Al 2B 2T 100,000 100,000 0
01 Al& Y| 100,000 100,000 0
OPH IPE NAEY AEIA
100,000, 0002 * 14! 100,000
NEIZE PFE S8 RS BS 82,930 71,995 10,935
201 Lur2 | 72,930 56,995 15,935
01 ALR eIt 72,930 56,995 15,935
OANRIZ2SDEE ATEY0 2
10,0002 %312 3,410
ONYEEE DT BALL
30,0002 (3% * 157 33 ¥5 2 x2A] 2H77| ¥4 4 47,220
2Ax2AI2H)
OABIZEE st NS Wil
9,0002 * (3Dt S #3521 * 157|413 2 352 +701 ) 16,380
OFNIDSH NSE A2E 7
200,002 *112 2,200
OFNISE YISME BT 1Y
600,00024 %13 600
OXUDFH PCRXI B 2]
1,300, 0002 ¥30CH x8/100 3,120
207 1N LB 10,000 15,000 5,000
02 & AP 10,000 15,000 A5,000
OPE 9 = FURXME SHOIX HE
10,000,0002! *13] 10,000
SEX0 ALY 1,145,184 1,269,325 A 124,141
AN 25 L RNES 842,219 955,081 A112,862
sEx0 AL 149,030 181,009 A31,979
201 L2 Y| 149,030 181,009 A31,979
01 ALR 2l 35,960 64,500 28,540
OFNYEL42 15,0002 *30024 4,500
OHNANEES S A2 22 5,000,008 5,000
OFIZ B4 2 & B2BE 29
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S BB SR (B) - NEAY - BAS 0f & o Soe DB
O&JIeII? S HIL2S 7Y
10,000,000 10,000
OdE A=H =< 500,000 23! «2CH 2,000
OSIHEEXN +¥ 20,000& x25+128 480
OSMNEESY 7Y 60,0002 *42 240
OAHERE #¢ 35,0003 * 120 4,200
OMEZ N 28I R 15,0003 *200 3,000
OEXTEN D ANAE A2F 4,740
—XtH St 1,070 +2,0007H 2,140
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02 Z33&4H 113,070 116,509 A3,439
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OdsIl M2a2= 4,000,000 *24! 8,000
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OFM M=X E Dl HEA
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OFABEA, WEZZA, 2FI| RN 24|
227,9203 128 2,736
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—&IIAE 3,400& %12,808m" 43,548
—AEAIE 1,000& *12,808m 12,808
—LHAE 500& = 12,808 6,404
EMAEE .22 HE= 270,178 351,061 280,883
401 AIEHIZL S HYI 270,178 351,061 280,883
01 A& H] 270,178 351,061 80,883
OFM A7E E=ZA 100,000, 000% * 14 100,000
OFMN =XAEE FRA2CSA
20,000,000& =14 20,000
OFALY SLEA == ddl & &t =83
At 45,000,000& * 14| 45,000
OF A 24 cIZEESAH 30,000,000 14 30,000
OFEAH LEDZY WIS At 75,178
- 271,400 +277HI E 75,178
ZZR2 L WA 423,011 423,011 0
201 224 423,011 423,011 0
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02 2324l 423,011 423,011 0
OEAM &.ot=k 23 5,300,000& x12& 63,600
OEM HIIeS 197,146
—JlEg= 6,300 *900kw*12& 68,040
—AEZ= 129,106,000 129,106
OFEAMN SHMEHRE S 2,400,000& 23| 4,800
OFAN BERLRFES 3,000,000 13| 3,000
OJFAALLD HHA AL S 200,000& *13] 200
O4% 2 B2, @M DT 242
180,000& 13 180
OFEANEZHI 10,000,000& »12& 120,000
OEZANNAAEZ 800,000& «12& 9,600
Os2ZJ Bd%A 23 280,000 «20H«12& 6,720
OxEANEE EZRN B2 450,000 128 5,400
OFIIZEMN=Z 450,000& *12] 450
OFIINES SHEB2| 448
992,860 «12& 11,915
2HEIE 2tel 302,965 314,244 A11,279
2EXE 2 50,000 0 50,000
405 KtatE S| 50,000 0 50,000
01 XML EEHSHI 50,000 0 50,000
OJiz+2clE X (UA) 20,000
—2832(1€ 4Usy) 20,000,000 = 1CH 20,000
OMEM2elE xteH(tHA) 15,000
—ZddsEX 15,000,000& *1CH 15,000
OSYFEI o8 () 15,000
—ZEsEX 15,000,000 *1CH 15,000
2 A2 252,965 314,244 AB1,279
201 LBr2 | 252,965 314,244 ~61,279
02 23244l 252,965 291,844 238,879
O2EXE SHME RFE=2
80, 000& »35CH*23] 5,600
OZsxty SEEES 550,000 «56CH 30,800
O2EXE NSIHAl 4,940
—sEX 400, 000& »3CH* 12l 1,200
—ZdEsE 100, 000& *14CH*12] 1,400
—3= & s¥ 60, 000 *39CH =13 2,340
OZE2xg =Xl 3,500,000 «54CH 189,000
O2EXE HIIZA==2 2,625
—SE LA 60,0003 »35CH 2,100
—&I1E Al 25,0003 »21CH 525
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ol 2 Al (52) 4,204,112 25,461,455 A21,257,343
I 4,204,112 25,350,773 A21,146,661
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-8y 4,479,067,00024*1. 4% 62,707
— AT 2 26,000,0002! +1.0% 260
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LR EVVE! 1,248, 151,0002 18] 1,248,151
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— 100 DL X 40,000& %100 4,000
—101&~400H 30,000& «183H 5,490
04 EASHERE=EH| 5,100 5,100 0
ORNSIHERFAY| 5,100
—&& 30QI X 350,000& x12& 4,200
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5,000& 15" = 12& 900
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S EFETE L 15,254,857 15,327,632 AT2,775
=2 12,255,350
= 1,499,753
Al 1,499,754
22ASEZH X 94,754 55,200 39,554
= 75,803
& 9,475
Al 9,476
301 YR A 94,754 55,200 39,554
= 75,803
= 9,475
Al 9,476




SN
X XH .
S Tt

oLk

2
J2

2
R
J2H

94,754,000&

=z HnH

94,754

94,754
75,803
9,475
9,476

55,200

=z HnH

11,734,750

9,387,800
1,173,475
1,173,475

11,512,529

222,221

= N W

1,734,750
9,387,800
1,173,475
1,173,475

11,512,529

222,221

01 At3IE2 &

(=)
OJlx=4

11,734,750,000&

=z HnH

—_

, 734,750

, 734,750
,387,800
, 173,475
, 173,475

e O =

11,512,529

222,221

= H W

,672,652
,138,122
267,265
267,265

2,901,380

N228,728

= HN W

2,672,652
2,138,122
267,265
267,265

2,901,380

N228,728

01 A2 E

(=)
OJl=H

=0l
=N
-

& FAHAS0

| s §
=]

2,672,652,000&

= N W

2,672,652
2,672,652

2,138,122
267,265
267,265

2,901,380

N228,728

= Hn N

445,797
356,638
44,579
44,580

480,325

A 34,528

= HnH

445,797
356,638
44,579
44,580

480,325

N34,528

445,797 ,000&

=z HnH

445,797

445,797
356,638
44,579
44,580

480,325

A 34,528

H

49,583
39,666

67,114

A17,531




SN 2R F
=
-/

FH: HASES MEHE X
SO FIPIESYETSE N (er9: @@
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
& 4,959
Al 4,958
301 etz azd 49,583 67,114 A17,531
= 39,666
& 4,959
Al 4,958
01 At EE A5l 3 49,583 67,114 A17,531
OJ=MBSE offa - ZH=0  49,583,000& 49,583
= 39,666
& 4,959
Al 4,958
Nz HEEL2 257,321 311,084 Ab53,763
= 257,321
301 LB A= 257,321 311,084 A53,763
= 257,321
01 At 2E X =6ll3 257,321 311,084 A53,763
Oz k 3223 257,321,000 257,321
= 257,321
ARAAHNE XA 404,494 514,355 A 109,861
= 173,195
& 69,390
Al 161,909
S =KX 181,629 181,395 234
= 145,303
& 10,898
Al 25,428
301 B2 A= 181,629 181,395 234
= 145,303
= 10,898
Al 25,428
01 A2 EEE 03 181,629 181,395 234
O2==X & 181,629,000& 181,629
= 145,303
& 10,898
Al 25,428
NARHE 220 XA 34,865 32,960 1,905
= 27,892
& 2,092
Al 4,881
301 etz azgd 34,865 32,960 1,905
= 27,892
& 2,092
Al 4,881
01 At EEE5ll3 34,865 32,960 1,905
OX&LIAHE L2l X 34,865,000 34,865
= 27,892
& 2,092
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oLk
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=
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paal

bai
40
=
Ol
Paa

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

[ Al 4,881

Y Ret=sS A 188,000 300,000 A 112,000

56,400
131,600

= H

301 et at= 188,000 300,000 A 112,000

56,400
131,600

=

01 Al2IE &

ORIt

+=0ll= 188,000 300,000 A 112,000
fetEs 188,000, 000& 188,000

56,400
131,600

0x A

=z H

AEsE s As HEAMY 664,468 669,600 N5, 132
531,574
66,447
66,447

= Hn W

EZZ2 A 487,000 489,600 A2,600
389,600

48,700
48,700

=z HnH

101 el A Hl 487,000 489,600 A2,600
389,600
48,700
48,700

= H W

sSE= 487,000 489,600 A2,600
OX&2 2 ALY 487,000,000& 487,000

389,600
48,700
48,700

= N W

IS E 177,468 180,000 N2,532
141,974
17,747
17,747

= N W

301 2 a=s 177,468 180,000 N2,532
141,974

17,747
17,747

= HnH

01 M2 X =62 177,468 180,000 N2,532
OgII=SEAME 177,468,000& 177,468
141,974

17,747
17,747

= HnH

RS RSN ELEES) 188,454 172,928 15,526
91,287
27,386
69,781

= HnH

AMNSISTSEMHATZR (LIMINMERR) X 182,574 167,048 15,526
91,287

H




SN 2YT FUMBRAD
HEl: YASS MBOF X
CHol: DIMOIE B =X

_ _ _ Muo
SNBSS - HRAY - BHES Aboy i
= 27,386
Al 63,901
101 121t 182,574 167,048
2 91,287
= 27,386
Al 63,901
VSIETEEPIETS 182,574 167,048
ONEISXES MU AT Q12|
182,574,0002 182,574
2 91,287
= 27,386
Al 63,901
Qs HE 29 5,880 5,880
201 LB 2yl 5,880 5,880
01 A2 22l 5,880 5,880
ORBSZHE AREX AP2gY|
5,880,0002! 5,880
S5 2 X 5,200 5,200 0
25Uy X 5,200 5,200 0
QUMYX YAX BD $42 4,000 4,000 0
201 YEr2gy| 4,000 4,000 0
01 At 22|t 4,000 4,000 0
ORSDALR LAX B 448
4,000,0002! 4,000
QESUAT 254 X2 200 200
307 21210 200 200
NEEEEET] 200 200
ORBSHAX BSHH 200
—oibl % Ayl 200, 00024 200
HAYR ZHH X 1,000 1,000
307 2120 1,000 1,000
NEEEEET] 1,000 1,000
OZAAMLT ZHHI 1,000,002 1,000
28t= X 29,882,992 26,103,683
2 7,613,416
= 200,531
= 6,816,437
Al 15,252,608
EETEE 27,512,258 23,911,770
2 7,258,904
= 6,095,953
Al 14, 157,401
ST, AL B4Z N 2,870,000 2,851,040




2A: 2Y? FOMEX L
dM: Bt XA
Hel: GRES (&9 HM
- _ _ poE N
2N -3 - c2(3H) - NEME - HES Ol &F2H 'Oﬁ/'\ja'g Hns
301 LEBAZ 2,750,000 2,756,000 A6,000
01 A B EELF2 2,750,000 2,756,000 AB6,000
OUXHEIINE olsds4+ 2,000,000,000& 2,000,000
OATHOIATIE S4tE e 3 300,000,000 300,000
O=sMAE s&EHAZ 450,000,000& 450,000
307 Q1201 & 120,000 95,040 24,960
06 282 120,000 95,040 24,960
OUHRE AtE otAIEE JtelEa 120,000,000 120,000
HAES N4 edazg K& 5,500 5,500 0
307 Q1201 & 5,500 5,500 0
05 DIZtAE 2 5,500 5,500 0
OMASE N HElold a4z K&
5,500,000& 5,500
dR0IEEZE K& 15,000,000 16,286,135 A 1,286,135
= 6,800,000
= 3,060,000
Al 5,140,000
301 et AZ 15,000,000 16,286,135 N 1,286,135
= 6,800,000
= 3,060,000
Al 5,140,000
01 MBI BEE252 15,000,000 16,286,135 N 1,286,135
oggootEsz X 15,000,000,000& 15,000,000
= 6,800,000
= 3,060,000
Al 5,140,000
FHod Eg2 780,000 807,850 A27,850
= 153,487
Al 626,513
301 et AZ 780,000 807,850 A 27,850
= 153,487
Al 626,513
01 AI 23 & 612 780,000 807,850 N27,850
OFgud g8 XA 780,000,000 780,000
= 153,487
Al 626,513
Helol® DIols ors¥=s XA 450,000 525,000 AT75,000
= 180,000
< 81,000
Al 189,000
301 LEEAZ 450,000 525,000 AT75,000
= 180,000
= 81,000
Al 189,000




2A: 2Y? FOMEX L
dM: Bt XA
Hel: GRES CEREED
_ ) _ pofEN
2AH -3 - SH2A(SH) - MEAMY - BHES 0] AFCH @}\_FO” Hns
01 Al 238612 450,000 525,000 AT75,000
O0eold biIolE o sd=sXH
450,000,000& 450,000
= 180,000
= 81,000
Al 189,000
HEMHAS Ols AHMHESEE K| 21,800 23,297 A1,497
= 4,360
Al 17,440
301 EtBAZ 21,800 23,297 A1,497
= 4,360
Al 17,440
01 Al B3 & +612 21,800 23,297 A 1,497
OHEMASOIS XHERZE XA
21,800,000 21,800
= 4,360
Al 17,440
ESUNE BExUR 48,000 20,000 28,000
= 19,200
= 8,640
Al 20,160
301 EtBAZ 48,000 20,000 28,000
= 19,200
= 8,640
Al 20,160
10 ALAIHI B A S 48,000 20,000 28,000
OBE+nsHl X2 48,000,000& 48,000
= 19,200
< 8,640
Al 20,160
DIZIHEI0IE ESWAJ HRIHAHI 522,000 0 522,000
307 21201 & 522,000 0 522,000
10 AHBISXIEZ 522,000 0 522,000
OuXA scl=M| 522,000,000 522,000
0I2H 20l BESWAE HRIHHHI(EX) 2,817,629 1,372,895 1,444,734
= 563,526
Al 2,254,103
307 Q1201 & 2,817,629 1,372,895 1,444,734
= 563,526
Al 2,254,103
10 MBI SXIEZ 2,817,629 1,372,895 1,444,734
O8Nl old Exundd HIHL]
2,817,629,000& 2,817,629
= 563,526
Al 2,254,103
HOHOF, HOotE BN S4225E 375,690 153,667 222,023




02 HI AI

ST FUMEXH D
SItE X
SEE

N BT (3H) - MEAIY - B2 A} OH &EIE Ho=2t
cSH I T2 ° . [= Bl e =5 0:”/|l|,% Lsa
& 112,707
Al 262,983
307 QI2tol ™ 375,690 153,667 222,023
& 112,707
Al 262,983
10 At =X X 375,690 153,667 222,023
OROI0} 2 20iE H2DNA S+224Y
375,690, 000& 375,690
& 112,707
Al 262,983
20l YWikghy| 250,000 231,700 18,300
307 gIz2tol A 250,000 231,700 18,300
05 BIZH2 & = 250,000 231,700 18,300
OQI2t- JIEOEl0ly Witgyl X
250,000,000& 250,000
Helol& Ot= 2tAlH] 975,000 976,650 A 1,650
307 gI2toI A 975,000 976,650 A1,650
05 QIzt2E 3 975,000 976,650 A 1,650
ONeold ot=s 2taldl 975,000, 000& 975,000
Helold wifuw+4l X 178,500 152,976 25,524
= 71,400
& 32,130
Al 74,970
307 2120l & 178,500 152,976 25,524
= 71,400
& 32,130
Al 74,970
10 AlBI =X 2= 178,500 152,976 25,524
OWelold wiu-Hl X& 178,500, 000& 178,500
= 71,400
= 32,130
Al 74,970
AT Helold 2g XA 43,680 36,000 7,680
& 13,104
Al 30,576
307 2120l & 43,680 36,000 7,680
& 13,104
Al 30,576
10 At =X X 43,680 36,000 7,680
OAZIHAEE Helold 2Z XA 43,680,000& 43,680
= 13,104
Al 30,576
gl0ld B0 dEHI|uS 7,780 12,200 AN4,420
201 L BH2HH| 1,000 1,000 0




S 2ET FOMBAD
Yo 2S5 A
Soll gRoteEs (Etel:&e)
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
01 Ak 22l 1,000 1,000 0
ORO0t ¥ =X Ler4a=H 1,000,000 1,000
301 LerE A 6,780 11,200 £4,420
10 BAIAH 242 6,780 11,200 14,420
O0RI0IE 2NN M2AIIRS 6,780
—AAE 500,000 *23] 1,000
LEE 13,0002 %1702 x23] 4,420
— 2t A 4,0002! ¥170% %23 1,360
OI2I0IE 2SDEE Q12| X 176,608 125,000 51,608
= 83,304
= 44,152
Al 44,152
307 812+0I H 176,608 125,000 51,608
= 83,304
= 44,152
Al 44,152
10 AHSI =X 2 X 176,608 125,000 51,608
OAIZFH TS 02101F 124 X
176,608, 0002 176,608
= 83,304
= 44,152
Al 44,152
OI2I0IE ThMQIZ Q11| XI& 31,400 0 31,400
= 9,420
Al 21,980
307 8I12+0| ® 31,400 0 31,400
= 9,420
Al 21,980
02 QYA X 31,400 0 31,400
OOII0IE THRIQZ 14l X
31,400,0008! 31,400
= 9,420
Al 21,980
OlRI0IE 2% X 539,300 267,860 271,440
307 ©I2+0| & 539,300 267,860 271,440
10 A1 =X 2 X 539,300 267,860 271,440
2SR 388,800,000 388,800
O0RI0ld 2 150,500,002 150,500
FOHORI01E 243 204,000 40,000 164,000
307 8I12+0| ® 204,000 40,000 164,000
05 BI2t2l et 204,000 40,000 164,000
OLIERVE bl X2
204,000,000 204,000




SN
X XH .
S Tt

el

SNBSS - MBAY - BES arey e {imE=Eh
oelold Eoitels X 26,500 24,000 2,500
301 etE a3 26,500 24,000 2,500
2IIe2a= 26,500 24,000 2,500
o7itels 3 S3oHdl XA
26,500,000 26,500
SE5MIOH = AlHI 35,991 0 35,991
= 10,797
Al 25,194
307 212+01 ™ 35,991 0 35,991
= 10,797
Al 25,194
10 A2l S RI2X 35,991 0 35,991
OBR5HI0H 24| 35,991,000 35,991
S 10,797
Al 25,194
FelE ANHESES 50,000 0 50,000
< 50,000
301 LB aE 50,000 0 50,000
S 50,000
01 Bl 2EE =052 50,000 0 50,000
OFcltd XA 50,000,000& 50,000
== 50,000
SNl el tE 24 ,901,880 0 1,901,880
= ,901,880
301 et2 a3 ,901,880 0 1,901,880
= ,901,880
01 A2 H =02 ,901,880 0 1,901,880
OBRt5Ml =eltd 2 1,901,880,000& ,901,880
= ,901,880
HIZOHOt Zit=: B2 1,000 0 1,000
S 750
Al 250
301 et as 1,000 0 1,000
= 750
Al 250
01 Al EEH =062 1,000 0 1,000
OdlIZ oot gut= 1,000,000& 1,000
& 750
Al 250
Helold Esndd 2 200,000 0 200,000
= 100,000
= 50,000
Al 50,000
307 212+01 ™ 200,000 0 200,000
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02 HI HT
30 10 00
e

> [e
o 0z
Mok
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o

B

SR

ML
0
m
40
2
0

SNBSS - MEAY - BES 04l &k 24

0
=1
R
J2H
=
EJ
Ol
0y

100,000
50,000
50,000

= NN

&
e
3
L
Jo
oy

200,000 0 200,000

@)
Q
m
o
1bal
H
30
£
JA
o
ry
10
i

SEoHsHl X&
200,000,000& 200,000
100,000
50,000
50,000

= H W

ots=X X 1,872,504 1,698,106 174,398
211,550
200,531
602,006
858,417

= HHD J

A2EAEINE 2 JHERIE0tEs N& 18,000 14,844 3,156
5,400
12,600

= H

301 et a=s 18,000 14,844 3,156

5,400
12,600

=z H

01 A2l 28 & ==5ll= 18,000 14,844 3,156
OAEAHIE & JIERIE0S N
18,000,000& 18,000

5,400
12,600

= H

AEAEINE 2=sH K& 8,400 7,200 1,200
840
7,560

= H

301 et at= 8,400 7,200 1,200
840
7,560

=

01 Al 2EH =63 8,400 7,200 1,200
Oadald4itd &=l XI& 8,400,000& 8,400
840

7,560

= H

HEEOts N&E 48,000 44,400 3,600

4,800
43,200

=z H

301 et et = 48,000 44,400 3,600

4,800
43,200

=

01 A2l 28 A +0ll= 48,000 44,400 3,600
OJtE<IEots &=l XI& 48,000,000 48,000

4,800
43,200

=

ZA0ts SA4 X 1,302,004 1,256,377 45,627
200,531

AL




FM 2
g3 =2

&Rl ots=AX X

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

477,151
624,322

=

301 LB as 1,302,004 1,256,377 45,627
200,531
477,151
624,322

= H A

01 A2l 2 H +=0ll= 1,302,004 1,256,377 45,627
1,302,004,000& 1,302,004

200,531
477,151
624,322

= H A

NS 0tsdle 2HHl X 423,100 375,285 47,815
211,550
105,775
105,775

= Hn W

307 212+01 423,100 375,285 47,815
211,550

105,775
105,775

= HnH

10 At S X2 X 423,100 375,285 47,815
OX<Eotsde 22l X& 423,100,000& 423,100

211,550
105,775
105,775

= HnH

XNSotsdE FHAtel = X& 46,200 0 46,200

307 212+01 ™

46,200

46,200

10 ARSI 2 X

46,200

46,200

OX<S0otsdE FARE 2dH] 22X
550,000 7 A +12 46,200

Nas Otss gt =

m

WK 26,800 0 26,800

8,040
18,760

= H

301 et al= 26,800 0 26,800

8,040
18,760

= H

o3 26,800 0 26,800
SHl XIg 26,800,000& 26,800

8,040
18,760

O
o
oy
m
10 H
am
m
1]

= M

B2 = X2 497,230 493,307 3,923
142,962

118,478
235,790

= HnH

MAS SR2IF(A2Y - AST)XNI (ANHEHS) 72,226 305,544 233,318
36,113
36,113

= M
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SN
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el

B . M. CHe (5 NEAY . B2 Al OH HEE =}
Al 440,270
10 AtSI =S X2 X 514,608 512,904 1,704
OdZ2AY Fzg4 514,608,000& 514,608
& 74,338
Al 440,270
HAS MIt=Ql AAEHE 226,500 250,750 A24,250
= 40,783
Al 185,717
307 2Iz2tol A 226,500 225,750 750
= 40,783
Al 185,717
10 At =S X2 X 226,500 225,750 750
OMASTItl AAE K&
226,500,000 226,500
& 40,783
Al 185,717
A2 A FHALR 212l 81,600 81,600 0
& 14,742
Al 66,858
307 S12H0| & 81,600 81,600 0
& 14,742
Al 66,858
10 AtBI =X 2= 81,600 81,600 0
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_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
01 AU S E 3 SH 600 0 600
OFXIOI0IXI MEUAII(AF) 600,000 *1CH 600
sSHE 25 X 57,080 57,080 0
301 LEtEAS 57,080 57,080 0
05E -2 - BHes2a3 57,080 57,080 0
(OF=FS ey 200,000 *16H *143] 44,800
OSH3I2 &A4Y 20,0008 *16% #2353 * 121 7,680
Ot g 25,0009 *92% x23] 4,600
MWRet =22 Bt=D| 5,460 5,460 0
301 etz a3zgd 5,460 5,460 0
10 HAIAHI 2 A3 5,460 5,460 0
ONMRet==20ESI| HELAEWHL SAHS3
7,000% *65% * 13| x 128 5,460
S N2 42,160 39,660 2,500
=Pl 42,160 39,660 2,500
201 et 32,160 34,660 A2,500
01 AtR22IH 2,400 10,800 8,400
O at2te] Bt 200,0002! + 12 2,400
02 3Z 2% 29,760 23,860 5,900
O332= & AMA 10,920
—&J232 700,000& 123 8,400
—A5leE Q3 60,0008 * 122 720
—XSXM & 282 1,800,0002! 1,800
Ofuk=2:] 9,600
— Aty 800,0002! « 12 9,600
OA&EHl KXl 5,640
—&EA 2 AEE X2l
300,0002 « 12 3,600
—200FHAAH 2242 170,0002 « 122 2,040
Ox&= Al 300,000& x12& 3,600
401 A& HI L ST 10,000 5,000 5,000
01 Al& 10,000 5,000 5,000
OXgt 2dgia 24 4,000,0002 14 4,000
SA Y 6,000,000 *12] 6,000
FOSRAAY 20,000 20,000 0
=0 SHAIE &l 20,000 20,000 0
401 A& Bl 2 CHHI 20,000 20,000 0
01 Al&H 20,000 20,000 0
OF QI A 20,000,000 20,000




SA: 2U2S
Ha: #HNSAAY (LUH2S)
cHol: ol Y| (B9 &2
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES O AF K Ofl At ot HwsZ
BH2HAY (2U2S) 64,308 66, 180 A1,872
oz 2oyl 25,588 25,660 AT2
olzi2 oyl 25,588 25,660 AT2
101 21218 25,588 25,660 AT2
03 RIHA22 B4 25,588 25,660 AT2
OSZOME HAn2d 25,588
Lt 836,6802 x 122 10,041
—Jlzay 836,680 *400% 3,347
— LA T2 bl 836, 6802 *200% 1,674
— Y= EIHY| 836,6802 * 150% 1,256
—DESEH| 140, 0002 * 122 1,680
—FoZAlY| 80,0002 122 960
—Ji=mSy 40,0008 +122 480
— Sl 30,0008 * 122 360
—NZRRLY
4,4702+1 5H1x15A1 2H* 122 1,207
—gazesy
4,470%1 1 5l B Al 2x22 #122 1,288
—oixtag 4,4702*8A| 24+ 18 644
—2=opa
(836,680 /243A1 2 ) +BA| 2++65%+ (10 * 12 2,149
)
— MR 25,086,000 %20/ 1,000 502
o=l 38,720 40,520 A1,800
[EEL 38,720 40,520 A1,800
201 Yur2 | 14,400 14,400 0
01 AL 2r2IHl 14,400 14,400 0
O= M2 80,0002 x84 *122 7,680
ozl 70,0002 8% * 122 6,720
202 014 14,400 14,400 0
02 2 2404 | 14,400 14,400 0
O 01| 150,00021 *8 * 122 14,400
203 2= Z bl 9,920 9,920 0
01 I 22 YA RS 6,600 6,600 0
OJlB2YYREAY| 50,0002 *122 6,600
02 HRHI YR =T Y| 320 320 0
OFAINARE T Y| 40,0002 8% 320
04 BA2HARETY| 3,000 3,000 0
ORN2YALEAY| 250,0002 *122 3,000




= AH O
N = 0 &8 AF S & Al A
2A: 23S
M 23S FAUXNXMYH 299
Rl FOIXXIME 43 (e
_ _ boE ==
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
£LH3sS 363,853 386,342 N22,489
£H3S FONXHEH 24 293,432 318,652 N25,220
FOUXXHE 243 210,820 209,240 1,580
FOUXXHE S 118,450 119,250 A 800
201 LEtRAHH| 26,200 21,200 5,000
01 At 22| 17,200 16,200 1,000
OF0IXXIHEHSY Letx=2H|
600,000 «12& 7,200
OHILIQ T2 Y s3I Wi $=2d]
1,000,000 14! 1,000
OF0IXXIAK3E 3l9 EAxgt
30,000& »25H x12& 9,000
03 HAI2HHI 9,000 5,000 4,000
OF0IXXIHH HEZLHS 3,000,000 3,000
OF QI XXIME AS 1,000,000& 1,000
OXNZEH SHs W 2,000,000& 2,000
OMASESE NH HEHE 3,000,000& 3,000
203 ¥ 2=Zd| 600 600 0
03 AIBH =X Q2= XY 600 600 0
OAHEAIZ =& 600,000 600
301 LEtB A= 87,120 81,960 5,160
10 HAIAHIEAS 87,120 81,960 5,160
OFUXXIHE XESAA AH 24
20,0002 300 x 122 72,000
OFQRXIHE A2 IHZALR AlH 24
20,000& »3H x252 15,120
401 Al HIZ 2 Y] 2,500 5,000 A2,500
01 A& HI 2,500 5,000 22,500
OZFQIXXHEH 3o Eetele &X
2,500,000 =14 2,500
405 XFAHRE S| 2,030 10,490 A8,460
01 ML SEFSH| 1,030 9,490 A\8,460
OUXigatoiet(thAl) 400,000 = 1CH 400
Og HdZI1(AR) 130,000 1 CH 130
O+=gs 3 (AR) 100, 0002 *5CH 500
02 A7l 1,000 1,000 0
OF0IXXIHEH A 10,0002 1002 1,000
AR e 24 23,680 21,300 2,380
201 LEH2HH| 21,300 21,300 0
01 At22t2|dl 9,600 9,600 0




AN =UH3S
M =38 FLUANXMEH =29

el —’F—E‘X}ilzl_la =kl (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
ORasy goxa Qurgy)
800,000& x12& 9,600
02 S=2gHl 11,700 11,700 0
O0ls 2HRS 900,000& = 12& 10,800
Obts 2HRZa 1,500& x50« 12 900
405 KHaHE = H| 2,380 0 2,380
01 AL =S H S| 2,380 0 2,380
OQJAARE OIS e (A4, TR
790, 0003 »2CH 1,580
O LSEM LHE YOoIMZ2tZ2IH (A4,
CHAl) 800,000& = 1CH 800
St 23 & 65,190 65,190 0
301 etz a3zgd 65,190 65,190 0
bES-c2l-tEEsEas 65,190 65,190 0
Oos&=+g 200,000 *18H *143| 50,400
Os&3o &&+2 20,0003 *18H+23«12& 8,640
OgtdE=¢ 25,0003 123 »23| 6,150
MWRe ==2 ST 3,500 3,500 0
301 et A3 3,500 3,500 0
10 HAAHIE &2 3,500 3,500 0
ONRs =52 US| HEL Z20H KA =4
7,000& *50H *13| x10& 3,500
= BA2Y 62,612 69,412 6,800
HA2g 3| 47,612 49,412 A 1,800
201 LBt H| 47,612 49,412 A 1,800
01 At 2teltl 3,400 11,400 A8,000
Ogt=ZH| 200,000 x12& 2,400
OE2%=A HI| 2UHE HZE 500,000 x24! 1,000
02 E=2ZHl 44,212 38,012 6,200
O332= & AMA 15,700
—&J|e3 950,000& = 12& 11,400
—&,ol=ER=s 150,000& x12& 1,800
—JIEt 222= & HA 500,000& 500
- EEE 2,000,000 *1CH 2,000
OXHZHI (FA &, S E) 1,100,000& x12& 13,200
OA&d&Hl |AIYI| 8,712
— 2014l ==& 196,000& = 12& 2,352
—gdgtae| a2 130,000& x12& 1,560
—&EA X AIEE X2l
400,000& +12& 4,800
Ooxg sl 300,000& x12& 3,600




SN L3S
M2 23S FORIMH 29

o9l 5 BARY (s &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
SENEEENEEES 3,000, 0002 * 14! 3,000
HALEZ A 15,000 20,000 5,000
401 Al 2B 2T HI 15,000 20,000 5,000
01 Al&Hl 15,000 20,000 25,000
ORIAFRE THBA 15,000,00024 *14! 15,000
ZOILR ALY 20,000 40,000 20,000
ZOIZBAIE H| 20,000 20,000 0
401 A2 HIL 2O 20,000 20,000 0
01 Al bl 20,000 20,000 0
OF 0% At Y| 20,000,000 %14} 20,000
HHSHAH (=UIBS) 70,421 67,690 2,731
oIzt 2yl 23,561 22,930 631
ozt 2 | 23,561 22,930 631
101 Q1214 23,561 22,930 631
03 RIIHA22 NS4 23,561 22,930 631
OSZoHME FAz2IR 23,561
=3 836,680 *122 0,041
—Jlesy 836, 68021 *400% 3,347
— 2k X 2| 836, 6802 *200% 1,674
— Y= B IH| 836, 6802 *150% 1,256
SN 140,0002 x 128 1,680
—yug A 80,0002 * 122 960
Sy 30,0002 * 122 360
— Aol 2R LY
4,470%1 %1 5bH 1541 2++122 1,207
—52224+y
4,470 *1 5l B Al 2 %22 #122 1,283
—Qixt g 4,470 Al 2415 537
—2&183
(836,680% /243 A1 2 ) «B Al 24 x65%+ (114 +0 R +2 269
*38)
—iELg 40,0001 +122 480
—MEER 23,099,000 %20/ 1,000 462
PR 46,860 44,760 2,100
=Bl 46,860 44,760 2,100
201 LEr2 Y| 16,200 16,200 0
01 ALR 2l 16,200 16,200 0
ORN2| 80,0002 +92 122 8,640
OJlzz 70,0002 %9 +122 7,560
202 01t 16,200 16,200 0




SN SU3S
o HY2ALH(SU3S)

=Rl =23l (el &
SN B SR(BH) - NRAY - BES 0fl & o e HRS2

02 X0 HI 16,200 16,200 0
O HNHI 150,000& »9& « 123 16,200

203 B2 =& 9,960 9,960 0

012282 6,600 6,600 0
OJjz=2dd 28| 550,000 »12& 6,600

02 It H R =2 360 360 0
OZItP =] 40,0002 9 360

04 FA2EHRFAH 3,000 3,000 0
ORAN2Sd2F24| 250,000& x12& 3,000

405 XHaHF S 4,500 600 3,900

01 A =S HSHI 4,500 600 3,900
OSAII(THA) 4,500,000& »1CH 4,500




= AH O
N = 0 &8 AF S & Al A
2A: BIHS
M §IHS FUXNXLAH 29
Rl FOIXXIME 43 (e
_ _ boE ==
2AH -3 - SH2A(SH) - MEAMY - BHES Ol & Oﬁﬁou BlusSZ
HIHS 542,594 549,394 26,800
HIHNES FUNXNME 29 459,820 465,000 A5,180
FOUXXHE 243 380,500 379,280 1,220
FOXXIHE 29 X2 119,980 114,560 5,420
201 LEtRAHH| 26,560 23,200 3,360
01 At 22| 18,560 18,200 360
OF0IXXIHEHSY Letx=2H|
600,000 «12& 7,200
OF XSS o4
30,0002 x26% x 122 9,360
OFQRXIHE AAIX 22t 2,000,000 2,000
03 S AI2 S H| 8,000 5,000 3,000
OFXXHE HZLHT 3,000,000& 3,000
OFUXNXIME HEH(WT) L HAHHME
5,000,000 5,000
203 & L =Zd| 600 600 0
03 AIBHZ=ZXIH 2 F XY 600 600 0
OANBEAIHFZR 600,000 600
301 et A2 89,820 69,960 19,860
10 HAIAHIEAS 89,820 69,960 19,860
OF XX HEH KHJASALA &l 24
20,000& 312 x12& 74,880
OF0IXXIAE A2 KAZAL Y B4
20,0002 x3H 249 14,940
405 XHAHE S HI 3,000 8,800 25,800
01 AL EEF SHI 2,000 7,800 25,800
OZ2E=(U=,47) 2,000,000 =1CH 2,000
02 T AP 1,000 1,000 0
O M7 1,000,000& 1,000
B xe 24 39,420 43,620 A4,200
201 B2 H| 38,920 38,920 0
01 AF22t2lH] 15,600 15,600 0
ORIy AR At H|
1,300,000 x12& 15,600
02 3329 23,320 23,320 0
oolsxER3 1,400,000 x12& 16,800
O0ZESAH ot E &S 2502 10,000 2,500
Oots2uEe s 1,500 *30E 12 540
OEs=xyeZI| X 22/H]
72,500 40«12 3,480
405 XA S| 500 4,700 A4,200




fA: EINS
g3 IS FUAXNLEH 29

el FOIMXIME B3 (e @8
- = — N e
S EHB .S (BH) - HRAIY - B2 Of) A o4 e HDZS2
01 KAt S EH S| 500 4,700 A4,200
O23HU (CHAH) 500,002 *1CH 500
S BE 2SN 215,500 215,500 0
301 YuHB A3 215,500 215,500 0
055 2 HHHESHS 215,500 215,500 0
Osz+g 200,000 *60% * 143 168,000
OSH3|o Ha4L 20,0002 602 +25|« 128 28,800
Opr & 45 25,0002 *374% x23| 18,700
MWRe 2= s 5,600 5,600 0
301 YR AD 5,600 5,600 0
10 SALAIHI 24 2 5,600 5,600 0
OMBE 222 US| HEA HOK SAH
7,00021 ¥50% +25] +6 2 5,600
S FAN2Y 59,320 65,720 A6,400
A2 S| 31,320 36,220 A4,900
201 L2 Y| 31,320 36,220 A4,900
01 ALR 2l 3,600 7,900 A4,300
oMt 22| YBtagH| 300,000 *122 3,600
02 B2 27,720 28,320 A600
O2ZRe2 % HA 9,120
~®J1e2 600,000 *122 7,200
—M5t4E 23 60,0002 * 122 720
—NEIM L 2EE 1,000,0002! 1CH 1,000
—JIEt 2223 200,000 200
ST 8,400
— & APt 700,0002 *122 8,400
OAN&ZH SXHI 6,480
—SOIAHAAY BA2 120,002 128 1,440
—XEAD| gor 20,0002 * 122 240
—HA Y NES STz
400,0002! +122 4,800
O KXl 300,000 *122 3,600
OO0IZX 2Kt 10,0008 * 122 120
HAEZE A 28,000 29,500 A1,500
401 Al E 6L 20| 8,000 29,500 ~21,500
01 Al &bl 8,000 29,500 ~21,500
OFAS Y2TA 8,000, 0002 * 14! 8,000
405 Xt &H3 S HI 20,000 0 20,000
01 KAt U S EH S| 20,000 0 20,000
OBEXH(THH) 20,000,000 *1CH 20,000




fA: EINS
g HIHsS FUAX

HE 29

CHel: Z=0I=2AALY (S ®)
- _ _ HEE
2N -3 - c2(3H) - NEME - HES Ol AFoH oﬁwa Hw=2
=ol=AALY 20,000 20,000 0
=0l 2B AIE 20,000 20,000 0
401 Al & H 220y 20,000 20,000 0
01 Al&H| 20,000 20,000 0
OZ=pl=2 ALY 20,000,000 20,000
HAHSAAH| (HIHE) 82,774 84,394 21,620
ole 29| 28,194 28,014 180
ol 29 28,194 28,014 180
101 @124 28,194 28,014 180
03 RIHA22AE S 28,194 28,014 180
OSZ=0IHEH Atz 28,194
—Jlez 836,680 x 128 10,041
=g 836, 6802 *400% 3,347
— DA X2 836, 6802 x200% 1,674
—HESIH 836,680 *150% 1,256
—DEBXH| 140,000 122 1,680
— X OHZAlY| 80,0002 * 122 960
— Mgt 30,0002 * 122 360
—ItELg 60,0002 * 122 720
S VEES ISE = 416,760 x1H *42 | 1,668
— St S22 E OIE X
5,000,000 *0.07*23] 700
— Azt 2eag
4,47024 %1 58 x15A 2F %122 1,207
—5U224g
4,470 1. 5H) *8Al 2H+2 2 % 122 1,288
— oIt 4, 47094 %8 A| 2++20LY 716
—2EJA2
(836,680 /243 A1 2H) *B Al 2H+65%+ (9 + 72 +1 2,024
0 *5%)
—AEEE 27,641,0002 *20/1,000 553
J| =22 54,580 56,380 21,800
Jl=2A] 54,580 56,380 21,800
201 YA 21,600 21,600 0
01 At 22| 21,600 21,600 0
O=RN29H] 80,0002 * 122 x12¢ 11,520
OJl=22 2l 70,0009 * 122 »12€4 10,080
202 04l 21,600 21,600 0
02 2 MO 21,600 21,600 0
OFHAHN Y] 150,0002 128 * 122 21,600




EONRES

SN
X XH .

)

=
=]

HE2H
Jl=238l

[s1

ZHI(EXH

o =

oF
R’

ok
o]

ok

(e} ([e) (e} ()
A0
Klo
E
-
o o o o
[e0) [} [e0) (]
(ep) (o] <t (]
S o
L4 3T
m<l
Pk
o o o o o o o
[e0) o o [e0) o] o (]
oo e I 5 S S
=~ o~ m»n ™
3
<
=
W B0 ol
o [aN] [aN}
') — —
(&) x x
or P ] ]
%0 & g8 8
N~ - -
e g g
. [aV}
1
=
Ik
=
. = 5 =
~ T R 3R T R
= ROKF ROKE ROKF
1o Kb OF KO- KR OF
F O~ & OF 30 OF oD
S lzlaaa o
- ”I|8 o TS B 0
s K| A0 A ® X
® ool s wer T Ok
K0 gl O g O I O
. ™ | = oV =
o (e} (@) (e}
H_AI [eV)
Ik




= AH O
N = 0 &8 AF S & Al A
2 BX2s
H: ¥A2s FOUXNXHEHESY
CHRl: FOIXXIME 45 (e
_ _ _ ME T =
2N -3 - c2(3H) - NEME - HES 0] AFCH Ol AF o8 Hns
s 438,673 441,225 A2,552
HI2E FOXXMEHESH 360,638 364,258 3,620
FOUXXHE 243 258,940 262,760 3,820
FAUXNXHEH 29 112,020 116,440 A4 420
201 LEtRAHH| 20,400 20,400 0
01 At 22| 15,400 15,400 0
OF0IXXIHEHSY Letx=2H|
400,000 128 4,800
OF QI XX HIEf A AT 224 800,000 »23] 1,600
OFUNXAKS 3ot
30,000 x25% x 122 9,000
03 S AI2 S H| 5,000 5,000 0
OFXXHE HZLHT 3,000,000& 3,000
OFUXNXIHE HAS Y WE 2,000,0002 2,000
203 2 =&lH| 600 600 0
03 Al =X Q2= KIH| 600 600 0
OANZHE A HER 600,000 600
301 Yetg A2 89,520 80,940 8,580
10 HAIAHIEAS 89,520 80,940 8,580
OFUXXIHE KSAKH (KA AHEA
20,000 *310H x 122 74,400
OFUXXAE A2l XS ALKF AH 24
20,000 *3H 252 15,120
401 Al HIZ 2 HYI 1,500 10,000 /8,500
01 A& HI 1,500 10,000 28,500
OFOIXXIHE ZHOHQEHOAAIE B2ABAHEI
TH&X) 1,500,000& =14 1,500
QIAAB e 29 21,600 21,000 600
201 L EH2HH| 21,600 20,700 900
01 At22t2|dl 12,000 10,800 1,200
OpIay A=K Abtx=2H|
1,000,000& *12& 12,000
02 2229H| 9,600 9,900 A 300
OFDSEQERHRE 800,000 «12& 9,600
SEtE 2=SX3 121,820 121,820 0
301 et A= 121,820 121,820 0
BbS-2-aEsga2 121,820 121,820 0
os&sd 200,000 *34H «143] 95,200
OEZ3 9 &M&EE 20,0002 *34H*23| x 122 16,320
Obt&E & 25,000& x206H *x23| 10,300




A EBA2S
3 gA2s FUAXNLAEHEE

Chel: FOXXIME 243 (e @
_ = FSRE =
SN EHH . H(EH) - NEAY - BES Off & o Ol & o8 HluSZ
MWRet =52 BHSD| 3,500 3,500 0
301 L2 a= 3,500 3,500 0
10 HAIAHIES S 3,500 3,500 0
OMRe SSLASIUHEL B0 SAHE
7,000& x50 *12/x10& 3,500
SEAMN2Z 81,698 81,498 200
EAN2EEHI 81,698 81,498 200
201 224 70,198 79,008 28,900
01 AtR 22| 3,600 13,600 210,000
OMst2te| Let=ZH| 300,000& =122 3,600
02 32244 66,598 65,498 1,100
O332= % HAl 35,800
—&IIe3 2,500,000 122 30,000
—&ot=E R= 350,000& x12& 4,200
—ASIHA & 2EE2 1,000,000 *1CH 1,000
—JIEt 83R2= 600,000& 600
Od =l 8,400
— X< et 700,000& 122 8,400
OAl £ &Hl =Xldl 18,798
—dojeta2te|tid === 150,000& 12 1,800
— Yot =2 150,000& =122 1,800
—sZJ| &Y === 250,000 «128 3,000
— SO HIAIAE 516,500& 12 6,198
—JIEt AlE2 = X2l 500,000& =12 6,000
OxteF= Al 300,000& x12& 3,600
401 Al IR S THYI 11,500 2,400 9,100
01 Al£Hl 11,500 2,400 9,100
OB A Z=Z Al 10,000,000& » 14! 10,000
OaZAE 223 A 1,500,000& * 14 1,500
Fo =3 A 20,000 20,000 0
TR SE At EH 20,000 20,000 0
401 AIEHIZ 2 THYI 20,000 20,000 0
01 Al Hl 20,000 20,000 0
O =R A 20,000,000& 20,000
HE2IZH (FX2s) 78,035 76,967 1,068
elg 2d 26,115 25,527 588
el 2 26,115 25,527 588
101 Q1A H| 26,115 25,527 588
03 RIHAZZNE 26,115 25,527 588




fAM: BX2S
Mo B AL (ZX2S)
&l QI 2AY| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OS=FRHEH FHAr22l& 26,115
—Jl22 836,680& «12& 10,041
A= 836, 680& *400% 3,347
— JtA X &Y 836, 680& *200% 1,674
—FE SO 836,680 *150% 1,256
—wE2 x| 140,000 «12& 1,680
— M S A 80,000& »12& 960
— M= 30,000& *12& 360
-5 80,000& 12 960
—NZe 2Ly
4,4702 «1 .51« 15A1 2t 12& 1,207
—gyae4g
4,4703 1 . 5HH 8 Al 2H+22 x 12 1,288
— X 4, 4703 «BAl 2+x19& 680
—250HA 3
(836,680%/243/\|?_F)*S/\l?_**65%*(101\—j*12%) 2,149
—&MHEER 25,602,000 *20/1,000 513
Jl2&Hl 51,920 51,440 480
Jl2&H| 51,920 51,440 480
201 ZEt2FH| 19,800 19,800 0
01 AtR2tel 19,800 19,800 0
OR M2l 80,000 x 11 ~12& 10,560
O=gl 70,000 x11H~ 123 9,240
202 ¢4 4l 19,800 19,800 0
02 A0 19,800 19,800 0
OZ A0 150,000 11E »12& 19,800
203 YR =& 10,040 10,040 0
01 J|22d P RF=8H 6,600 6,600 0
OJI22FHRF4| 6,600,000& 6,600
02 IR =AY 440 440 0
It R =] 40,0002 11 440
04 REM2E IR 3,000 3,000 0
OFRN2ZHRF&HI 250,000& «12& 3,000
405 AHetFE S HI 2,280 0 2,280
01 XML EFHSHI 2,280 0 2,280
Og2s HII(UHA) 1,580
—ZelH 790, 0003 +2CH 1,580
OTA(CHAI) 700,000 *1CH 700




At

A

SN HTBS
HE: YAS FOUAKNIMH 2
el ZOIXIME A5 (S5l &2
_ _ _ N E
SNBSS - HRAY - BHES 0 & o4 o HIRZE2
B3 407,012 358, 445 48,567
HI3E FUNXME 2 321,416 291,246 30,170
ZOIREIME B 236,840 208,470 28,370
EOITRIME2Y 126,420 110,420 16,000
201 YEr2gy| 26,200 26,200 0
01 AtR2t2IH] 20,200 20,200 0
OFUNXHMESY ABt4gY|
600,0002 *122 7,200
OFURXIME AAX R 2,000, 0002 2,000
OF NS 8]0 HAsg
30,0002 ¥25 « 122 9,000
OFOURIRIME BAIIT 22/8  2,000,0008! 2,000
03 # A2 b 6,000 6,000 0
OFQRXIME HBLHES 3,000,00024 3,000
OFUNAIME 28 ¢ DE  3,000,0008 3,000
203 YR = TY| 600 600 0
03 Al EZ R =X Y| 600 600 0
ONFAIHEZ 600, 0002 600
301 YBrE A2 81,120 75,960 5,160
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seE 23 N& 168,060 168,060 0
301 et ag 168,060 168,060 0
058 -cl-tEssEds 168,060 168,060 0
Os&=¢ 200,000& +47H +143] 131,600
OS&3 e F&x=E 20,0003 «47H*23| «12& 22,560
Ogta =4 25,0003 »278H »23] 13,900
WRet =32 2SI 7,000 7,000 0
301 et a3 7,000 7,000 0
10 HAIAHIE &3 7,000 7,000 0
ONRe==2Z24SI| HEL ST S44
7,000& «50H 23| x 10 7,000
FAN2E 52,380 47,180 5,200
A ZE A 10,000 5,000 5,000
401 A& HIZ 2 CHYI 10,000 5,000 5,000
01 A& HI 10,000 5,000 5,000
O&FEAL Xlotd E=Z At 10,000,000& =14 10,000
EMN2S S| 42,380 42,180 200
201 det2Ad| 42,380 42,180 200
01 AR 2t eld| 11,200 11,000 200
OMAtzte| get==H| 600,000& «12& 7,200
OHMA & M 4,000, 000& 14 4,000
02 2244 31,180 31,180 0
O232= ¥ HMAl 19,660
—&JIe3 800,000& «12& 9,600
—&.ol=ER=s 80,000& »12& 960
—NSTHAl & 22 800, 000& *1CH 800
—ZANARS 650,000& 128 7,800
—JIEtE3e2=2 500,000& 500
OAIE&EHl XYl 7,920
—AN&2]X 22/t 350,000& «12& 4,200
— ol ddle+== 190,000& x12& 2,280
—gdt2e|iid= 120,000& x12& 1,440
OXt& =Xl 300,000& «12& 3,600
F0 =RAE 20,000 20,000 0
= EHANE ZHl 20,000 20,000 0
401 A& HIZ 2 CHHI 20,000 20,000 0




M OIE3S

HH: OlE3E FOUXXME 29
el =0l =AY (&9 x e
= - PofE =
2MH - 2 . H2(ZH) - MEAY - BES are anou &
01 Al&H] 20,000 20,000 0
OZ D= AL 20,000,000 20,000
N AAY| (OLERE) 82,297 81,902 395
22 A 25,717 05,522 195
A2 A 25,717 25,522 195
101 @121t 25,717 25,522 195
03 RIHA2ZRE S 25,717 25,522 195
OSZ0IME HAIZR2 25,717
—-J|ez 836,680 x 122 10,041
—J|g 836, 6802 *400% 3,347
—tESg 40,0002 x 12« 122 480
— A2t
4,47024 %1 58 x15A] 2F %122 1,207
—52o9xag
4,470 1. 5H1 *8Al 2H+22 % 122 1,288
—FHZ Al 80,0002 * 122 960
—DEBXH| 140,000 122 1,680
—HESIH| 836,680 *150% 1,256
— DA X2 836, 6802 *200% 1,674
—2EIA2
(836,680 /243 A1 2H) x8 Al 2H+65%x (10 72+ 2,239
11E+59)
— ot 4, 47024 *8A| 2++19Y 680
= 30,0002 * 122 360
—AHEE2 25,212,000 x20/1,000 505
=23y 56,580 56,380 200
J|23y] 56,580 56,380 200
201 L2 A 21,600 21,600 0
01 At 22| 21,600 21,600 0
O=2N29H] 80,0009 * 122 »12€4 11,520
OJl=2 2] 70,0009 %122 » 1224 10,080
202 04l 21,600 21,600 0
02 2 MO 21,600 21,600 0
O AN 150,000 *12% * 122 21,600
203 9 RE= X 11,380 11,380 0
01 JI22H A2 A 7,900 7,900 0
OJ|ZegdREx| 7,900,0002 7,900
02 MAJIAY R RIY] 480 480 0
OFANLARE XY 40,0002 12 480
04 BA2YA2F A 3,000 3,000 0




2AM: OIEr3s
A HY2HHHI(OESS)

el Jl=3 (el &)
_ _ HE T
SN CR(EH) - NRAY - BES 0il & o e HlE2

ORAN2IHRF4HI 250,000& 12 3,000

405 KHatE =S| 2,000 0 2,000

01 HME =S HSHI 2,000 0 2,000
OAMSRE AXHHA) 200, 000& *5JH4 1,000
O8&S =X & 2ARX(&F) 1,000,000 *14] 1,000




N = 0l & AF & F Al A

2M: 32S
M 22= FUNK MEH 2
el FOIXIME BB GRS
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
E 511,553 541,108 N 29,555
== FUNX dH 29 437,238 467,978 A 30,740
FORXIHE &S 3t 362,218 375,218 A 13,000
FAUXXHEHSE 114,760 122,960 A8,200
201 Bt AH| 25,200 21,200 4,000
01 AtR22t2|dl 18,200 16,200 2,000
OF UMM S Aers Y|
600,000& x12& 7,200
OFBINASANS 5o &M LT
30,000 x25H « 12& 9,000
OFUXXIAE NATX &2F 2,000,000& 2,000
03 SHAI2HHI 7,000 5,000 2,000
OFXXHE HZLHT 3,000,000& 3,000
OF0XXAHEH HASH L NE 2,000,000& 2,000
OFAEHNEES 2,000,000 2,000
203 2R F=&H| 600 600 0
03 Al =&AL F=XH| 600 600 0
OANEAIHEZR 600,000& *13| 600
301 dEt8EAZ 79,960 69,960 10,000
10 HAIAHIEAZ 79,960 69, 960 10,000
OFQURXIME KHJASAA AHI2 4
20,000& 275« 12& 66,000
OFOXXAEH AE2el NS AR A 2 A
20,000& »2Y 299! 11,960
OS M2 500, 000& *43| 2,000
405 KH&HFE S HI 9,000 31,200 A 22,200
01 M2 FH SHI 8,000 30,200 N22,200
OZFCIXXIME, ATHCCHAN) 2,000,000 * 14 2,000
OHICI Z2HEH(HAN) 3,000,000 =1CH 3,000
OHICI2 ZZ2HEH AU (AIF)
1,500,000& 14! 1,500
OdsS A37RI(AR) 1,500,000& * 14! 1,500
02 TA7HI 1,000 1,000 0
OFQUXXEEH &AM 10,0003 =100 1,000
DA HEI2Y 27,758 32,558 A4,800
201 LBt2HH| 26,268 31,268 A5,000
01 At 22/l 12,000 12,000 0
ODEHHADEX ABt4BH|
1,000,000& x12& 12,000
02 =24l 14,268 19,268 A5,000
O01&sRER3 1,000,000& x12& 12,000




S 22ES
Y ZTS FOURK HEH 29
SH9l: FOIRIRIME & 3t (Etel: &8
_ _ pSNE e
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K 'Oﬁ,‘\ja‘g Hlw &2
OptERER2 1,50021 #3021 122 540
OS#sY 21AVZI| KA
14,0002 12 1,728
405 Xt &HF S| 1,490 1,290 200
01 AL SEF S| 1,490 1,290 200
O0IX Z2IE DI (A4S, ThM)  790,0008 *1CH 790
O2 MU (THA) 700,000 * 1CH 700
SoIBNESH X2 214,100 214,100 0
301 YBtEAS 214,100 214,100 0
055 2 - ARSI 214,100 214,100 0
OsI+Y 200,0009! 60 * 143 168,000
OSE3|o&A4Y 20,0008 «60% 23| * 128 28,800
Opra4gf 25,0009 *346% *23| 17,300
WEE B=2 oS 5,600 5,600 0
301 YBBAZ 5,600 5,600 0
10 #AAIH B A2 5,600 5,600 0
OMRe B2 OrSI| LHEA UK SAH
z 7,0002 ¥50% x25] «g 2 5,600
= FNSY 55,020 72,760 A17,740
HAr2 Q| 45,020 50,760 15,740
201 2Bre | 45,020 50,760 A5,740
01 Ak 22l 10,400 16,540 16,140
ORMatzre] et 300,0009! * 128 3,600
OF4I| YXE 150,000 * 12 1,800
OsZT M 5,000,000% 5,000
02 BB=22H| 34,620 34,220 400
OZZR2 L HMA 20,900
—®I|23 800,000 * 128 9,600
—d5t4E 23 100,000 * 12 1,200
-ngeEs 2,300,000! *1CH 2,300
— F APt 600,0002! * 128 7,200
—JIEHBZR2 2 HA 600,000% 600
OAl&EZHIRX bl 9,720
—HA Y AIEE KB
500,0009! * 128 6,000
—20AY 442 200,0009! * 128 2,400
—gstEelEE 10,0002 * 12 1,320
OXZ Rl 4,000,000 *1CH 4,000
HAFEZ A 10,000 22,000 A 12,000
401 A SHIL 2O H| 10,000 22,000 A 12,000




SN 2BS
Hm: 225 FUNK MY 29
Sl S BASY (et & 2
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
01 Al&H] 10,000 22,000 £12,000
O35 CISHA ¥S2 DUSA
5,000,0002 * 144 5,000
O N BOAIL TA 5,000,000% * 144 5,000
o= 20,000 20,000 0
FOIZEANE FY| 20,000 20,000 0
401 A& HIL 2 THY| 20,000 20,000 0
01 Al&H] 20,000 20,000 0
OF o= A 20,000,002 20,000
HHSAZH(22S) 74,315 73,130 1,185
ol 2] 25,135 24,940 195
TR 25,135 24,940 195
101 21214t 25,135 24,940 195
03 RINHA2EX 24 25,135 24,940 195
OSZOIME HABER 25,135
-J=3 836,6802! + 122 10,041
—Jlgay 836, 6802 *400% 3,347
— P X 2 836, 680% +200% 1,674
EEL] 836, 6802 *150% 1,256
] 140,000% 122 1,680
— g Al 80,0002+ 128 960
—2lM g 30,0002+ 122 360
—ARe2R AT
4,470%1%1 581 % 15A1 2H+ 122 1,207
—FYaRLY
4,470 +1.5HH*BAI 2Hx22 » 128 1,288
—oRaY 4,470 +8A| 2t 192 680
—2£0H43
(8366802 /2431 24) %8 Al 24 #65% (1011 122 2,149
)
—M R E 24,642,002 %20/ 1,000 493
ol =2 49,180 48,190 990
o= 2l 49,180 48,190 990
201 YBr2 | 18,000 18,000 0
01 At 22| H| 18,000 18,000 0
ORASSH| 80,0002 % 10% * 122 9,600
eIEE=ET 70,0002 %102 + 122 8.400
202 01 bl 18,000 18,000 0
02 2204l 18,000 18,000 0
Og oot 50,0002 102 122 18,000
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N = O

A A0S
g A0S FUNXAE 29
el FEUAXIME A3}

A E E A

A

_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 il b o B2
T0l=s 527,207 570,747 243,540
20IE FOARIHE 2 439,739 485,770 £46,031
01X XI MIE] B4 5t 326,960 374,650 AAT7,690
EOITRIME2Y 107,540 105,140 2,400
201 YEr2gy| 21,200 21,200 0
01 AtR2t2IH] 15,200 15,200 0
OFUNXHMESY ABt4gY|
500,0002 122 6,000
OFURKAAE sl &2
30,0002 x202 x 128 7,200
OFUTRIME AAK| 2,000,0002 *13] 2,000
03 & A2 6,000 6,000 0
OFQNXIME 28 % DE  3,000,0008 3,000
OFUNXIME HBLHS 3,000,00024 3,000
203 YR =AY 600 600 0
CEE T 600 600 0
ONFAE =RES 600, 0002 600
301 YA 85,740 82, 140 3,600
10 8 AFAH B A S 85,740 82, 140 3,600
OFURIXIME KHASAT Abl2a
20,0002 %2702 *122 64,800
OFURXIME ALR2 HAZAK AHI2A
20,0002 324 x2492 14,940
OBANZHLT AL B
1,000, 0002 *62 6,000
EEES IR 26,310 76,400 A50,090
201 YEr2gy| 26,310 30,000 A3,690
01 AtR 22|t 2,000 12,000 0
OLIASE L= AutSH|
1,000,0002 122 12,000
02 ZB2YL| 14,310 18,000 A3,690
O2BE 0122 950,0002 122 11,400
OSHE B&R3 50,0002 122 600
OSezy L3I X2
77,0002 3CH * 102 2,310
SelUEE SN 186,110 86,110 0
301 LA 186,110 86,110 0
0552 - BRBESBAD 186,110 86,110 0
OsZ4g 200, 0002 ¥522 * 143 145,600
OS®3lo ALY 20,0008 *528 25/« 122 24,960
ourgag 25,0002 31124 %23 15,550




M A0S
M A0S FUNXAE 29

Chol: ZEDIXHRIHIE B A B (ol m 2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
MWRet =22 Bt=D| 7,000 7,000 0

301 et azg 7,000 7,000 0
10 HAAHIE A= 7,000 7,000 0
ONRS=SLUEI| HELEHX 24 W3
7,000& «50H 23|« 10 7,000
SEMNEZY 92,779 91,120 1,659
FAr2Z 3 92,779 91,120 1,659
201 L EH2FH| 92,779 91,120 1,659
01 AR 2teld| 11,187 9,600 1,587
OMar2te] Bt=2ZH| 800,000& x12& 9,600
O&F=D| gXtz 132,200& = 12& 1,587
02 2324l 81,592 81,520 7?2
Oz32= & HA 61,600
—&JIe32 2,500,000& 123 30,000
—&olE 23 250,000 «12& 3,000
— A | 2,000,000& «12& 24,000
—JIEE3e= 300,000& «12& 3,600
— X L OIEXN 2EE2 Y HA
1,000,000& 1,000
OA&EHI= Xl 19,992
—&EA 2 AEES X2
500,000& «12& 6,000
—Xg 2 0IEX |l 350,000& = 12& 4,200
—SFCoIAHIAIAE 2teldl 250,000& «12& 3,000
-S|l 260,000& «12& 3,120
—do|td |l =2 156,000& 128 1,872
—getzeliids=2 150,000& x12& 1,800
FU=FAY 20,000 20,000 0
FOSEALY &I 20,000 20,000 0
401 A& HIS 2 CHYI 20,000 20,000 0
01 Al£Hl 20,000 20,000 0
O=0I=R Al 20,000,000& 20,000
HY2AHU(R0IS) 87,468 84,977 2,491
QA2 A 27,888 27,697 191
ol 2| 27,888 27,697 191
101 @124 | 27,888 27,697 191
03 RIAHAZZNHE 27,888 27,697 191
OS=0HEH FAt22| & 27,888
=22 836,680& «12& 10,041
== 836, 680 *400% 3,347




A F20ls
M. HNHSHHHI(R01S)
chel: ol | (e a2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
— JFAI R & H| 836, 680& *200% 1,674
— &SIy 836,680& x150% 1,256
— S22 XY 140,000 x12& 1,680
—HHF A 80,000& x12& 960
— MG 30,000& x12& 360
—IIEx=Y 80,000& 12& 960
—ANESHHIBE XS 1,846
nss 416,760 x 1H x4 2 | 1,668
=St 44 400 x1H 42 D] 178
— A2 224
4,470&3 *1 50 *15A 2+ 12& 1,207
—s524I22Y
4,4703 *1 . 5HH*8Al 2tx2L x12E 1,288
B PN ESE= 4,4703 *8A| 2% 19 680
—2HIN=
(836,680 /243 Al 2t) *8B Al 2+ x65%* (9 62 +1 2,042
08 +68)
—dIEE S 27,341,0002 %20/ 1,000 547
JlE2&Hh| 59,580 57,280 2,300
p[EN] 59,580 57,280 2,300
201 Et2AH| 21,600 21,600 0
01 AtR22t2|dl 21,600 21,600 0
OFENM2EH| 80,000 x12H x12& 11,520
(OPIR=T=1=1i] 70,000& 128« 12& 10,080
202 (4 Hi 21,600 21,600 0
02 EHAHI 21,600 21,600 0
OE MY 150,000 x 12 = 12& 21,600
203 22 =2&lH| 11,380 11,380 0
01 J|I22H LR =&H| 7,900 7,900 0
OJ22HLRFAY| 7,900, 000& 7,900
02 HJIHAMH 2 =X 480 480 0
HAAIMAE R =R 40,000 x124 480
04 EA2ELRF=EH] 3,000 3,000 0
ORNSHERFAY| 250,000& x12& 3,000
405 KHAHFE S| 5,000 900 4,100
01 ML Z22EFHSHI 5,000 900 4,100
O&EXI=2 A (CHAD) 4,500,000 *1H 4,500
OAMH (&) 500, 000& =14 500




= AH O
N = 0 &8 AF S & Al A
2M: R0s
M A0S FUXNXLAH 29
Rl FOIXXIME 43 (e
_ _ boE ==
2AH -3 - SH2A(SH) - MEAMY - BHES Ol & Oﬁﬁou BlusSZ
Fo1s 457,833 452,050 5,783
A0S FLNXHEH 249 386,276 382,756 3,520
FOUXXHE 243 281,340 271,160 10,180
FAUXNXHEH 29 131,940 119,060 12,880
201 LEtRAHH| 21,000 20,000 1,000
01 At 22| 15,000 15,000 0
OF0IXXIHEHSY Letx=2H|
500,000 «12& 6,000
OF0IXXIAASY 3o &AL
30,000 x25% x 122 9,000
03 HAI2HHI 6,000 5,000 1,000
OFONXHE HELEF 3,000,000 3,000
OFQUXXIME A 2 W= 3,000,000& 3,000
203 ¥ L=2Zd| 600 600 0
03 AIBH =X Q2= XY 600 600 0
OANZH A HEZR 600,000 600
301 LEtB A= 94,140 87,960 6,180
10 HAIAHIEAS 94,140 87,960 6,180
OZF0IXXIHE KASALX A 24
20,0002 %330 x 122 79,200
OZFQIXXHE A2l ANASAA AHI B4
20,0003 3 249 14,940
401 Al HI L 20HY| 8,000 4,000 4,000
01 A& HI 8,000 4,000 4,000
OF0IXXIHdHE2Es)EL2 &X
7,000,000 =14/ 7,000
odltieEz®eE &4 1,000,000& x 14! 1,000
405 XA S| 8,200 6,500 1,700
01 ML SEFSH| 5,200 3,500 1,700
OctUitlAa FEH(2UEH Z&,0HAM)
1,100,000& = 1CH 1,100
OHILIQEZHEE (A7) 4,100,0002! = 1CH 4,100
02 S AP 3,000 3,000 0
OFXXIHE =AM 3,000
—2240 8Mlole SMuA
1,500,000 * 13 1,500
— M4l SAHLA 1,500,0002 x13] 1,500
B xe 249 23,310 26,010 A2,700
201 LEtRHH| 23,310 25,410 A2,100
01 AF22t2lt] 14,160 13,260 900




A A0S
g3 A0S FUAXNLH 29

& FUXNXHEH 2L (etel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
ORAHE HRFA LEt=ZH|
1,000,000& 123 12,000
OsegsZLaI *A2te 180,000& «12& 2,160
02 2324l 9,150 12,150 23,000
Olls RfER= 750,000& *12& 9,000
OBts RERS 1,500& *100A 150
SEE 23 N& 119,090 119,090 0
301 et a3z 119,090 119,090 0
058 -cl-tEsssds 119,090 119,090 0
Os&=¢ 200,000 *33H *143] 92,400
OS&3 o F&x=E 20,000 *33H*23|x12& 15,840
Ogtd =4 25,0003 217 »23] 10,850
WRet =32 2SI 7,000 7,000 0
301 etE a3z 7,000 7,000 0
10 HAIAHIE &3 7,000 7,000 0
OMRe =252 ¢sI| HEL B =4
7,000 *50H 23| x 10 7,000
s EA2Y 84,936 91,5% A6,660
AM2S S 71,796 79,596 7,800
201 gEt2dd| 71,796 79,596 A7,800
01 A2 2&2ldl 3,600 10,400 26,800
OMAtzte] et H| 300,000& «12& 3,600
02 2324l 68, 196 69, 196 A 1,000
OZB32=aLHA 23,800
—dIIRe3 1,500,000& 123 18,000
—&ot=Ee=3 150,000 *12& 1,800
—NSIA & EE2 1,000,000 = 1CH 1,000
—JIEt 23R2= 3,000,000& 3,000
(@) K=3:] 2,000,000 x12& 24,000
OAEZHIS X 8,796
—do|gtd e =2 93,000& *12& 1,116
—gatae] 2 120,000 «12& 1,440
—sZJ|2e 2 170,000& «12& 2,040
SoZHl =2 150,000& «12& 1,800
—JI& AlE S XId] 200,000& «12& 2,400
OXte =Xl 3,600,000 «1CH 3,600
O (GHP) s AIZtel 1,000, 000& »5CH 5,000
OFEAM W HIEE A 1,500,000& *14! 1,500
OFA 258 &3 A 1,500,000& *14! 1,500
AR A 13,140 12,000 1,140




=M RONS
Hu: [0S FUNXMEH 2%
ool = HA2Y (Etel:&e)
- _ — N e
S EHB .S (BH) - HRAIY - B2 Of) A o4 e HDZS2
401 A& L THY| 13,140 12,000 1,140
01 A&l 13,140 12,000 1,140
OXIGHA!l 2000l BAF & SEHHE &
4,000,000 *144 4,000
OSHA HF L2t XA 1,000,0008 %144 1,000
OSFA 212 % BIaa CCTVEX
3,420,000 * 14! 3,420
OSHA OOl BOlAlM 84X U B4 4,720
—EXE HEHHE(UR) 8000002 * 14! 800
—SHKT 45I HX (M)
630,000 * 14! 630
—BNGEHEX(AA) 500, 000! *1 4! 500
—G RS RA ABD| 20| AX (A7)
110,000 #3241 330
—ZoHo s HA MBI S (A7)
400,000 #3241 1,200
—20F HXIC ZXI(A7)  130,0008 524! 260
—OIFF AN A2 H2ld DH ZX(4
) 1,000,0002! *14! 1,000
Fo %ALY 20,000 20,000 0
ZOZBAE F| 20,000 20,000 0
401 Al &I LS THY| 20,000 20,000 0
01 A&t 20,000 20,000 0
OF Q=AY 20,000,000 20,000
HHSAAY (POI1S) 71,557 69,204 2,263
olzte oyl 25,147 25,134 13
ole 2oty 25,147 25, 134 13
101 Q1248 25,147 25, 134 13
03 RIHA2ZRE 4 25,147 25,134 13
OSZQME HAneld 25,147
-2 836,680% 122 10,041
—Jlg4y 836, 680! *400% 3,347
— LA X2 b 836, 680! *200% 1,674
— Y EE I 836, 680! *150% 1,256
RS 140,0002! * 12 1,680
—Fug Al 80,0002 122 960
— Mg 30,0002 122 360
—Jim4y 80,0002 122 960
—NZeaesy
4,470 %1 560 %1541 2bx 12 1,207
—g22R4+y
4,470 %1, 5HH *BAI 2422 128 1,288




SM: 20NS
Hu: #HSARY (POS)
cHol: ol Y| (B9 &2

S BB SR(SH) - HRAY - BAS

r

[
2

20
B
2

— Xt 4,470 8 A| 2+ %18 644
—22JHA3
(836,680 /243 A1 2 ) *8 Al 21 x65%+ (5 *32 46 1,236
EH0= )
—ATEE 2 24,653,0002 *20/1,000 494
2l 46,410 44,160 2,250
=23 46,410 44,160 2,250
201 L2 A 16,200 16,200 0
01 At 22l 16,200 16,200 0
ORAMegl 80,0002 x9H 128 8,640
o= 70,0002 *9% x 128 7,560
202 01| 16,200 16,200 0
02 20l 16,200 16,200 0
Og Aol 150,000 x9% « 12& 16,200
203 PR =2l 9,960 9,960 0
01 I H2Y LTI 6,600 6,600 0
OJAL2ILRFXY] 550,000 * 128 6,600
02 HRAIMAA R =X 360 360 0
OXAIAA R EEY] 40,0002 9% 360
04 EARHAL TN 3,000 3,000 0
ORMNR2ILRFXY] 250,000 x 128 3,000
405 XHAHE SH 4,050 0 4,050
01 AMLSEFSHI 4,050 0 4,050
OYLE 2LIE( 350,000 «3CH 1,050
OHPE HEH(ZUE M2, )
1,000,000 »3CH 3,000




N = &t

A

2A BHOs
=3 BDE FOUNAME 2
orol: FOIRAME 245 CERE
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
Tus 510,500 550,596 40,096
Ttus FUXNXNE 29 445,574 482,360 AN36,786
FOXXIHEH &dat 253,670 287,500 A 33,830
FOUXXEEH 23 133,720 168,750 A 35,030
201 B2 HH| 25,000 22,680 2,320
01 At 2teltl 15,000 15,680 A680
OFUNXIHdEH2Y dit+=2H|
500,000& = 12& 6,000
OFBIRAALE sloasrY
30,000 x25H = 12& 9,000
03 A2 GHI 10,000 7,000 3,000
OF0RXHE HFLHS 3,000,000 3,000
OFUNXME wWR(AHE) & HAHHI2Y
5,000,000& *12] 5,000
OS M2 & ZA=E 500,000& x43] 2,000
203 AR F=&lH| 600 600 0
03 Al =& 2| 600 600 0
OAMEAIH =& 600, 000& 600
301 LEE A= 107,320 107,160 160
10 #ALAIHIE A= 107,320 107,160 160
O=0IAXIHEH HJASALA AHI24
20,000& *405A| 24123 97,200
OFUXXIHEHAI 22 NH2SAK AUl 24
20,0003 2% 253 10,120
405 KHaHE S| 800 36,810 A36,010
01 Rt =S HSHI 800 33,810 A33,010
OFQUXXIME HAIE EII(AF) 800
—&9 400,000& 24 800
QAARXel2Z 24,000 22,800 1,200
201 B2 FH| 24,000 22,800 1,200
01 At 2teltl 12,000 10,800 1,200
Ol HRF& =24l 1,000,000&+12& 12,000
02 2=2gHl 12,000 12,000 0
Olls fEHR= 1,000,000& x12& 12,000
SUHEESIA 88,950 88,950 0
301 LEE A= 88,950 88,950 0
bE-cl-tEEsEaa 88,950 88,950 0
(OF=F< L=y 200,000 25 *143| 70,000
OS& slo&A2 20,0003 +25H+23|x12& 12,000
Oogt&Eag 25,000& *139Y 23] 6,950




SN
X XH .
S Tt

el

z
o M
H0
02

]
>

>

[z

o

N >4
0x

_ _ _ Muo
Mo E - SRI(3]) - HRAY - BES Aboy i =
WRE 22 ors))| 7,000 7,000 0
301 Lere A 7,000 7,000 0
10 #AAH 2 A2 7,000 7,000 0
OMRs B2 OHSI| LHEA UK 24 A
z 7,0002 ¥50% x25] « 102 7,000
A2 171,904 174,860 £2,956
HA2 S A 142,904 146,860 13,956
201 2Bre | 142,904 146,860 13,956
01 Ak 22l 9,600 16,700 A7,100
OMar2e| YetsgH| 800,0009! * 128 9,600
02 BB=2H| 133,304 130, 160 3, 144
OZZ22 2 MA 107,000
~RUSM ¥ 2EE 1,400,000 *1CH 1,400
—®II23 5,000,000% * 122 60,000
—A45t4E 23 300,0009! * 128 3,600
—JlEe3323 500,0008! %128 6,000
eEL] 3,000,0002! * 128 36,000
OA&FHEl || 22,704
—TIlot B 442 160,000 128 1,920
—alee H+4+2 150,0002! * 12 1,800
—sUIlBel h@E42  260,0002 %12 3,120
—HA Y AIEE RXBIY
800,0009! * 128 9,600
—H A S E A 3,000,0009! *13] 3,000
—LOIAYIAAY 8H2 272,008+ 12 3,264
OX X bl 3,600,002 #1CH 3,600
B AL OH 29,000 28,000 1,000
401 Al HI L2 OHY] 29,000 28,000 1,000
01 Al&H 29,000 28,000 1,000
OB HXIBA 15,000, 0002 15,000
OFM 22 TMTA 14,000,000 14,000
=2 ALY 20,000 20,000 0
DIZTALE FY| 20,000 20,000 0
401 Al H L2 OHY] 20,000 20,000 0
01 Al & 20,000 20,000 0
OF Q=AY 20,000, 00094 20,000
BHS AP (HLS) 64,926 68,236 £3,310
ol oyl 26,206 27,716 A1,510
ozt oyl 26,206 27,716 A1,510




SN BRS
M #EAAY (BDE)
chel: ol | e
SN S(B) - NRAY - B2 Aro B =2
0l &
101 21 24H| 26,206 27,716 21,510
03 I HAZ2NHE S 26,206 27,716 21,510
OsF2HEH A2l 26,206
A= 836,680& x12& 10,041
=Yg 836,680 *400% 3,347
—ARE 2R
4,4702 +1. 581 x15A1 2t 12& 1,207
—gu2esy
4,4703 x1. 58 »8AI 2+ x22 x 12 1,288
—AX== 4, 4703 *BAl 2Hx20 716
— gAY 80,000& x12& 960
—s2 2| 140,000& <128 1,680
—HE SOl 836,680 *150% 1,256
—JHAIXI & I 836, 680 *200% 1,674
— 253
(836,680 /243 A1 2+) xBAl 2+ +65%+ (10 x9= + 2,203
114+38)
—EE 80,000& »12& 960
— MG 30,000& *12& 360
—MHEEZ 25,692,000& *20/1,000 514
=224l 38,720 40,520 A 1,800
=l 38,720 40,520 A 1,800
201 L Et2FH| 14,400 14,400 0
01 AtR2tel 14,400 14,400 0
ORAM23HI 80,000 x8H «12& 7,680
O= &l 70,000 x8H x12& 6,720
202 01t 14,400 14,400 0
02 AN 14,400 14,400 0
OZ A0 150,000& 8H 12 14,400
203 g F =&l 9,920 9,920 0
01 J|22d P 2= 6,600 6,600 0
OJI22FARF&H| 6,600, 000& 6,600
02 HRAJtetH S F=Ed| 320 320 0
O&EJIAH R =AH| 40,000 »84H 320
04 EM2I TR 3,000 3,000 0
OFRN2IHRF&HI 250,000& 128 3,000




N = 0l & AF & F Al A

SN MBS
Ha: MBS FOURIME 29
el ZOINXIME Eas (e @
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il b o B2
NBE 429,687 445,508 ~15,821
MBE FOURXME 2 366,660 379,200 A12,540
ZOIREIME B 213,120 222,380 A9,260
ZOIRXIME 2 117,500 127,760 £10,260
201 Lut2 | 25,200 21,200 4,000
01 AtR2t2IH] 16,200 16,200 0
OFQRME2Y Arr2gH|
600,0002 *122 7,200
OFUNXIARE 50| &Halsg
30,0002 ¥25 « 122 9,000
03 A2 bl 9,000 5,000 4,000
OFQRXIME HBLHES 3,000, 0002 3,000
OSs2h MHOHZ FoIA U BE
3,000, 0002 3,000
OFQURXMEHS U S=HSHES
3,000, 0002 3,000
203 YR =TY| 600 600 0
03 Al ZZ 2= X Y| 600 600 0
ONFAIHEZ 600,000 600
301 YuHR A3 87,120 105,960 £18,840
EVERE! 87,120 105,960 18,840
OFARRME KHASA AbI24
20,0002 ¥300Al 24+ 122 72,000
OFURXIHME AL 22 TAZAT QY24
20,0002 *3% +2522) 15,120
405 Xt &HE St 4,580 0 4,580
01 Kt SEH S| 4,580 0 4,580
OFQURXIME A& ESE TV(AT)
1,280, 0002 1CH 1,280
OMBSRT HAI|R(MT) 2,900
— e 1,500,0002! *1CH 1,500
—WEOALKID| 500,000 *2CH 1,000
—HEA 400,000 *1CH 400
OCIXIZ 32 &I 7) 400,0002! *1CH 400
IR Hel 2Y 23,800 22,800 1,000
201 L2 Y| 22,800 22,800 0
01 ALR 2l 10,800 10,800 0
ORI N ADER £8H 900,000 128 10,800
02 T2 12,000 12,000 0
OO0l.¥ts U JIEFRER3 1,000,000 <128 2,000
405 Xt AHF S HI 1,000 0 1,000




SN
X XH .
S Tt

el

44 0z 0z

S 0g 08
O o
I
e
-

o >

_ _ pSNE e
M- B8 S2(3H) - HRAY - BaS Arol G =2
01 MM =SZFH=HI 1,000 0 1,000
OXXOI0IXR MELSII(&57) 500,000 *2CH 1,000
g 2= X& 68,320 68,320 0
301 et a3z 68,320 68,320 0
058 -cl-tEaEsEazg 68,320 68,320 0
Os&=¢ 200,000 *19H «143] 53,200
OS&3 e EF&x=E 20,000 *19H*23|«12& 9,120
Oogta =4 25,0003 120K 22| 6,000
i2et =52 &SI 3,500 3,500 0
301 et2 a3 3,500 3,500 0
10 HAIAHIE &3 3,500 3,500 0
ONMRe =232 ¢S UEL B0 =4
7,000& *50H «10& 3,500
SEAMN 29 133,540 136,820 A3,280
FA2Z 3 133,540 136,820 A3,280
201 Et2Ed| 130,540 132,320 A 1,780
01 AtR2tel 7,440 4,800 2,640
OMar2te] Bt=2ZH| 400,000 123 4,800
O&=J] gz 44,0003 x50 =128 2,640
02 2324l 123,100 127,520 N4,420
O232= ¥ HMAl 94,000
—282 2 HA 1,000,000& 1,000
—&IIe3 4,200,000 x12& 50,400
— =l 3,000,000& x12& 36,000
—4ol=ER3 250,000& «12& 3,000
—JIEE3ER=s 300,000& x12& 3,600
OA&EHl |l 18,000
—dojetd2te] E=+=  250,000& <128 3,000
—agtze| -2 130,000& «12& 1,560
—sZJ|2e U2 170,000 «12& 2,040
—&EA 2 AEES X2l
700,000 +12& 8,400
—SROFHIAAE L ZEHAIAE ESE
250,000& 128 3,000
OXr& KXl 3,600, 000& 3,600
OFA 28 & A 1,500,000& *14! 1,500
OFEAMN UHR HIEE A 1,500,000& *14! 1,500
OZuedl & ALl M2t 2,000,000 14 2,000
OFM & 25 22 AHY 2,500,000& *13] 2,500
401 A& HIZ 2 CHYI 3,000 0 3,000




SN MBS
HEl: MBS FORXMEH 29
S SHA 29 (B9 &)
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Off &F 04 il i~ o Rz
01 Al& ] 3,000 0 3,000
OSUCHH SET SXBA 3,000,008 %14 3,000
ZOIL R ALY 20,000 20,000 0
ZOISBAIE H| 20,000 20,000 0
401 A2 HI L 20| 20,000 20,000 0
01 Al& bl 20,000 20,000 0
OF I8 At 20,000,0002! 20,000
HH2YAH (MY S) 63,027 66,308 ~3,281
oIz 2| 24,307 25,783 A1,481
o1z 2| 24,307 25,783 A1,481
101 Q1248 24,307 25,783 A1,481
03 RIIH2ER2 4 24,307 25,783 A1,481
OSFoME FAzeY 24,307
=3 836,680 +122 10,041
—Jlzay 836, 6802 *400% 3,347
— Y B EH| 836, 680%! * 150% 1,256
— b X 2l 836, 6802 *200% 1,674
—N22RsE
4,470 1 5bl* 1541 2++122 1,207
—gY2Rsg
4,470+ 1. 5bH+BA| 2Hx22 + 122 1,288
—oixtag 4,470 B Al 2t 16 573
— g A 80,0002 * 122 960
—nE2EH| 140,00091 * 1224 1,680
—220143
(836,680% /243 A1 2 ) +B Al 24 x65%+ (211 +0 R +3 484
H+38)
—iE4g 80,0002 * 122 960
—SlMag 30,0008 * 122 360
—MEER 23,830,000 %20/ 1,000 477
o= 38,720 40,520 A1,800
=l 38,720 40,520 A1,800
201 Yet2 e H| 14,400 14,400 0
01 At 22|t 14,400 14,400 0
S VE-T:] 80,0002 *8% + 122 7,680
Ozl 70,0002 +8% *122 6,720
202 04t 14,400 14,400 0
02 2 % 01| 14,400 14,400 0
OZ A0t 150, 00021 +82] * 1224 14,400
203 R = H| 9,920 9,920 0
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N = 0l & AF & F Al A

SPA: HAE
HM: WEE FONXHAEH 29
Chel: =QIXXIME M35t (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
A S 479,091 402,404 76,687
B E FOXXMEH 2 415,900 341,773 74,127
FOIXNXINEYH 2435 249,300 211,453 37,847
FOIXXINEH 24 122,810 84,540 38,270
201 L2 AH 24,000 21,000 3,000
01 AL 2t2lH] 18,000 18,000 0
OFQUXXIHE Let=2H| 500,0002 * 122 6,000
OZ0RXIALS| 3| &Mt
30,0002 «25%H 122 9,000
OFQUXNXIHE XA L 2A FA3ASE
30,0002 *50H «23] 3,000
03 #HAI2ZH] 6,000 3,000 3,000
OZQIRXIHE HEZYUTF 3,000,000& 3,000
OFQXNXIME HS L N 3,000,000& 3,000
203 ¢ R=ZH| 600 600 0
03 Al =R = 600 600 0
OAHA#MEZX 600,000 600
301 Yt A= 87,180 62,940 24,240
10 HAIAHI B A2 87,180 62,940 24,240
OFQUXXIHE KRESALK AlHI S A
20,0002 *300 x12& 72,000
OFOIRXIMEIA L2 KA AH A
20,0002 x3& »253 15,180
405 XFAHE SHI 11,030 0 11,030
01 AHAY 2 EF SH| 11,030 0 11,030
OHICI T2 HE (&) 4,000,000 *1CH 4,000
OHICI2 T2HE A (A7)
1,500,000 x 1Al 1,500
OXE AJI(a7) 1,500,000 x 1Al 1,500
CESAFTHAMFA) 1,750,000 = 1CH 1,750
OLCD TV(CIZtEt2% Al ) 1,280,000 »1CH 1,280
O2 MM (&FF) 1,000,000 »1CH 1,000
QIR Xl 2Y 21,600 26,483 4,883
201 LEL2AH| 21,600 24,833 A3,233
01 At 224 12,000 10,800 1,200
ORFAMBADEX £2H|  1,000,0008 122 12,000
02 2229 9,600 14,033 A4,433
O0lsERa 800,000 » 122 9,600
EBE 2= g 99,990 93,430 6,560
301 Yt A2 99,990 93,430 6,560




SN WEE
g W s FUNXAE 29
Chel: ZOITXIME EA3) (=CRE
SA - HB B9 (E) - NRAY - Ba S 0f et o e DS
058 -cl-tEES2H3 99,990 93,430 6,560
Oosd=+¢< 200,000 28 x142] 78,400
Os&zle #4dx=g 20,0008 +28E+22|x12& 13,440
ogta =4 25,0003 1632 22 8,150
NRet =2 BSD| 4,900 7,000 A2,100
301 2 a=s 4,900 7,000 A2,100
10 HAtAHI2 42 4,900 7,000 2,100
OMRst &= 2SI HEA FHA =4
7,0002 352 »22|x10E 4,900
SEMN =2¢ 146,600 110,320 36,280
AMESSEH| 146,600 110,320 36,280
201 224 126,600 110,320 16,280
01 At 22| 9,600 9,600 0
OMst2te| Let=ZH| 800,000& x12& 9,600
02 33&4H 117,000 100,720 16,280
O3323% MH 97,600
—E282 2 HAl 1,000,000 1,000
&3 5,000,000 128 60,000
—dot=E2s 250,000 x12& 3,000
—JIEEs38e=2 300,000& =122 3,600
— =4 2,500,000& 122 30,000
OANEEHl |X4 13,800
—dojeta2te| === 250,000 *12E 3,000
—detzte| e 150,000 *12& 1,800
—sol2el =2 150,000& 128 1,800
—EA E ANEES FA22H]
300,000& =12 3,600
—ROoFHIANAY EH= 300,000& x12& 3,600
Oxtgts Xl 3,600,000 3,600
OodsJl M2 E4 2,000,000& 2,000
401 AIEHIZ 2] 20,000 0 20,000
01 A& H 20,000 0 20,000
OF AL Xt &X 20,000, 0003 14 20,000
FOI=3AY 20,000 20,000 0
=AU =SEALE Fl 20,000 20,000 0
401 AIEHIZL 2 HYI 20,000 20,000 0
01 A& H] 20,000 20,000 0
O =2 At 20,000,000 20,000
HY2LZHI(HES) 63,191 60,631 2,560




SN ES
M W2 (HEE)
& QI 2AY| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
eIz 24,471 23,751 720
A2 A 24,471 23,751 720
101 @1 2d| 24,471 23,751 720
03 RIHAZZNHE =+ 24,471 23,751 720
OS=FRHEH HAr22l& 24,471
—Jl=22 836,680& «12& 10,041
=Yg 836, 680& *400% 3,347
— Aol 2R ag
4,4703 1.5« 15A1 2t 123 1,207
—ga2sy
4,4703 1 . 5H«BA| 2Hx2 « 123 1,288
— A xtsg 4, 4703 «BAI 2+ 16 573
— M S A 80,000& »12& 960
—Es2 x| 140,000& *12& 1,680
—FE S0t 836,680 *150% 1,256
— JHAIXI & Y| 836,680 *200% 1,674
—22opa
(836,680 /243A1 2+ ) *BAl 2H+65%+ (3 *12& ) 645
—IIE==g 80,000& »12& 960
— A= 30,000& *12& 360
—&MHEER 23,991,000& *20/1,000 480
Jl2&Hl 38,720 36,880 1,840
Jl=2&H| 38,720 36,880 1,840
201 Bt2 A | 14,400 12,600 1,800
01 AR 2teld| 14,400 12,600 1,800
OR M2l 80,000 x8H 128 7,680
O=gl 70,0003 «8H 128 6,720
202 (4 4| 14,400 12,600 1,800
02 A0 14,400 12,600 1,800
OZ A0 150,000& 8H 12 14,400
203 R =2 9,920 9,880 40
01 J| 228 P R=8H 6,600 6,600 0
OJI 22 HRF4| 6,600,000& 6,600
02 IR F=EY] 320 280 40
It R =] 40,000% x8H 320
04 REM2E TR 3,000 3,000 0
ORN2IHRFAHI 250,000& «12& 3,000




2 A

A

M- B C (B H) - NEAIY - BHA2 Al OH &EIE Hn=2
ey * NMl=Arg o= 04| AFOH Lo
475,492 458,406 17,086
FOUXNXEH 29 412,660 393,450 19,210
AXIME &4 3t 269,560 228,090 41,470
QIXXIME 22 121,660 117,840 3,820
201 LBr29H| 23,000 24,000 A 1,000
01 AR 2teld| 16,800 17,800 21,000
OF0XXEH 29 2etx2h]
500,000 «12& 6,000
OIS 33N+
30,0003 x25H 12 9,000
O UXIdE &AIF =2t
150,000 *12& 1,800
03 HAI2GHI 6,200 6,200 0
OF0UXXIHH XSLES 3,000,000& 3,000
OFQXXHH At & IR 2,000,000& 2,000
OFUXNXIHE SMZI ZA=E
300,000& *43] 1,200
203 ¥ =&l 600 600 0
03 Al =X Q2 =&Y 600 600 0
OANEAIH =& 600,000& 600
301 et A3 81,960 77,160 4,800
10 HAIAHIE A2 81,960 77,160 4,800
OFUXXIHE KR SAA AHI 24
20,0003 300 = 12& 72,000
OF0IXXIAE A2 XNSAL AUI2 A
20,0002 x2H 249 9,960
401 AlEHIL 20 Y] 15,000 0 15,000
03 AI& 2 0HHI 15,000 0 15,000
OFUXTXIHE 294 HE+
15,000,000 = 14! 15,000
405 XtatE S| 1,100 16,080 A 14,980
01 XL =2EHSHI 1,100 16,080 A 14,980
OFUXXIME 2Ha EHI(AR) 1,100
—2ANESI| 700,000 =14 700
—COXIE3t0Het 400,000 + 14 400
QAP 29 40,860 17,830 23,030
201 L EH2FH| 20,160 17,280 2,880
01 AR 2teld| 10,200 9,600 600
ORUAMZT LR TR ABt2H|
700,000 *12& 8,400




SN

25
HM: 25 FUNMXHEH 24
el FUINXME A5 ECR-ED
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OSE AL ZAIAE R E 4H|
150,000& *12& 1,800
02 =24l 9,960 7,680 2,280
O0l& RERS 800,000& x12& 9,600
Outs RERZ 1,500 x2024 *12& 360
405 KHAHFE S| 20,700 550 20,150
01 ML 2SS FH SHI 20,700 550 20,150
OsgAasHLZI|(AlA) 9,300,000 «20H 18,600
Oel=J1 (A 2,100,000 = 1CH 2,100
Stt&E g5 A 100,040 85,420 14,620
301 LprB A 100,040 85,420 14,620
05 -2 -aassa3 100,040 85,420 14,620
OsdY 200,000& x28H * 14 3| 78,400
OSHE3o #FAY 20,0003 *28H *x23|x12& 13,440
OBt&E =& 25,000 1642 *23| 8,200
HRst =52 S| 7,000 7,000 0
301 YerE Az 7,000 7,000 0
10 HALAIHI 2 A= 7,000 7,000 0
OMReZ=sL0S)| HEA HOE X SAH|
7,000& *100¥ =10 7,000
S A 29 123, 100 145,360 N22,260
A2 S| 123,100 134,560 A11,460
201 L2 A 123,100 134,560 A 11,460
01 ALS 2 2IH| 12,000 26,000 A 14,000
OMatzte| LdBt=ZH| 1,000,000& x12& 12,000
02 S32gH| 111,100 108,560 2,540
OZ2Z2222HA 73,600
&2 5,500,000& x12& 66,000
—AGIE=ER2 250,000& x12& 3,000
—MNSXHAH ¥ 283 1,000,000& =1CH 1,000
—SHEINERE2 L NERLFEHES
1,200,000& 1,200
—JIEt 3323 200,000& x12& 2,400
OdSHI (AN Wit e) 3,600
—SEAIIARZ3 300,000& x12& 3,600
OAl& &H| KX 8] 30,300
—EA L AIEZ2 X 22l
800,000& x12& 9,600
—&D|otM2te] =2  400,000& 128 4,800
— & Ab ghgt2teld| 150,000& 12& 1,800
—&s&J| A 228l 200,000& x12& 2,400




PAH: 25
HM: 2F = FOUXHEH 29
ool S HAI 2Y QEA)
= - bolEN=
2N -3 - c2(3H) - NEME - HES agell oﬁ/?OH =&
—201AY| 242 300,000 x1 22«12 3,600
—EHAN QEHA 1,500,000 *13] 1,500
—EHA HISEA 1,500,000 *13] 1,500
—EA 2EEd 1,500,000 *13] 1,500
—JIEF Al &Y 300,000 * 122 3,600
OXt&S X 300,000 * 122 3,600
=AY 20,000 20,000 0
QIS B ALEE HH| 20,000 20,000 0
401 Al & HIL 2 HH 20,000 20,000 0
01 Al&H 20,000 20,000 0
OZ Q=2 AL | 20,000,000 20,000
HE2AHH| (RES) 62,832 64,956 N2,124
ol 2| 24,112 24,436 A324
ol 2| 24,112 24,436 A324
101 @124 H| 24,112 24,436 N34
03 LI HLZ2Z2XE 2= 24,112 24,436 A324
OSZ0IMEYH A2l 24,112
-J|=2z 836,680 x 122 10,041
—Jlgxd 836,680 *400% 3,347
— DA K 2 H 836,680 x200% 1,674
— YA S I 836,680 *150% 1,256
—WEBXH 140,000 * 122 1,680
—HUZ A 80,000 x12& 960
— ML 30,0002 x12& 360
— A2t 2Ly
4,470 %1 5HI*15A| 2t 12) 1,207
-2
4,470 x1 5H *8A| 2Hx2 2 x 12€ 1,288
— it 4,470 x8A| 2Hx17L 608
— 22
(836,680 /243 Al 2t) xB Al 2+ x65%+ (5= x4 24 +6 1,218
88 )
—MEE2 23,639,000 *20/1,000 473
2 38,720 40,520 A1,800
=24 38,720 40,520 A 1,800
201 Lpt2AH| 14,400 14,400 0
01 AtR22telH 14,400 14,400 0
OBAN22HI 80,0002 x8H x 128 7,680
OJl=32H| 70,0002 «8H x12& 6,720
202 O4H| 14,400 14,400 0
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